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Tuesday, December 18, 2007

--- On commencing at 9:30 a.m.


MR. KAISER:  Please be seated.  

Mr. Thompson.


MR. THOMPSON:  Thank you, Mr. Chairman.

UNION GAS - PANEL 1, Resumed

David MacEacheron; Previously Sworn

Libby Passmore; Previously Sworn

Drew Quigley; Previously Sworn

Cross-examination by Mr. Thompson (continued):


MR. THOMPSON:  Mr. MacEacheron, I would like to go back to the sanctity of contract point that I was discussing with you yesterday and just pick up on a couple of points that were raised at the end of the examination yesterday when we were discussing Union's position on sanctity of contract.


We were discussing this issue in the context of the promise Union made in the 2000 settlement agreement to continue to roll over agreements with respect to space and deliverability allocations, and, in particular, those with respect to the customers who had made their T1 arrangements prior to 2000.


You told me that Union adheres to the principle of contract sanctity.  Did I understand that correctly?


MR. MacEACHERON:  That's correct.


MR. THOMPSON:  So can I take it, from that, that Union, if it makes a promise, keeps its promises?


MR. MacEACHERON:  That's correct.


MR. THOMPSON:  All right.  And the promises we're talking about here is what I call the rollover promise, which, can I assume, was made in good faith by Union?


MR. MacEACHERON:  Yes, you can assume that.


MR. THOMPSON:  So does it follow that if Union keeps its promises and adheres to contract sanctity, does it follow that Union should not be asking the Board to approve proposals that are incompatible with promises Union has made?


MR. MacEACHERON:  No, I don't follow that logic trail.  When the Board provided its directive to us, it was quite clear to us that they asked us to review all T1 contracts.


All of the contractual commitments that Union makes with its customers, with its in-franchise customers, are subject to the approval of the Ontario Energy Board, ultimately, and can be changed by the Ontario Energy Board.


When we received that Board directive, it was quite clear to us that the Board's intent was for us to look at all T1 customers, and that's the way we approached the task.


MR. THOMPSON:  All right.  Well, let's move on.  At transcript 132 yesterday, you made a statement that IGUA had brought to the Board's attention the grandfathering of customers.  If you look at transcript 132 at lines 8 and 9, I suggest to you my client never brought that to the Board's attention.  Union brought that to the Board's attention.


MR. MacEACHERON:  I'm sorry, your point, Mr. Thompson, is?


MR. THOMPSON:  IGUA didn't bring to the Board's attention the grandfathering of contracts.  The circumstances which gave rise to that topic being discussed at the hearing are discussed in the IGUA evidence in paragraph 11.  I would ask you to turn that up.


Just by way of a bit of a preview of what's in that paragraph, which I will come back to in a moment, if you go to tab 5 of the IGUA material, you will see an undertaking response that Union gave to Mr. Quinn of the City of Kitchener that was marked Exhibit B, tab 1, undertaking number 45, attachment 1 in the NGEIR proceedings.  Do you see that? 


MR. MacEACHERON:  Yes, I do.


MR. THOMPSON:  It was the filing of that document and Union's responses to it, when being cross-examined by Mr. Ryder, that triggered this discussion about grandfathering, and the discussion came from Union witnesses.  IGUA wasn't even there.


MR. MacEACHERON:  I can accept that.


I just recalled reading in the transcript -- or in the decision, I should say, reference to IGUA advancing an argument with respect to estoppel.


MR. THOMPSON:  I will come to that in a moment, but you do accept IGUA didn't raise this point?


MR. MacEACHERON:  I do accept that.


MR. THOMPSON:  Do you accept that what is described in paragraph 11 is a reasonable description of how this issue came up?  Kitchener and Union had this dispute about the results of applying the AE method to Kitchener.  Union characterized this dispute with Kitchener as discrete, and I have attached the transcript reference at tab 4.


Then in response to discovery questions, we had this exhibit that's at tab 5, and that members of the Board Panel questioned Union's witnesses with respect to the space variances, and it was as a result of the concerns with these space variances that we got the directives in the NGEIR decision.


Is that a fair summary?


MR. MacEACHERON:  I think so.


MR. THOMPSON:  Now, in the NGEIR directives - and you will find those at tab 2 of the IGUA brief - there is at page 88 a mention of Union's position with respect to the current contractual storage and deliverability allocations to in-franchise T1 customers.


The decision says in the first full paragraph:

"Union proposed no changes to the way in which storage is currently allocated to in-franchise customers at cost-based rates."


That is correct?


MR. MacEACHERON:  That is correct.


MR. THOMPSON:  And am I correct that the reason Union proposed no changes was that it felt bound by the agreement it had made in 2000?


MR. MacEACHERON:  I'm not sure the agreement was -- in 2000, the settlement agreement you're referring to, was the reason we proposed no changes, because we have approximately 23 other T1 customers who are also allocated space, and we have a number of longer term T1 customers, as well.


It is really the allocation of T1 space -- the allocation of space to T1 customers is really not an issue on the issues list for this proceeding, and so we didn't come to this proceeding, it's my understanding, with the thought of proposing any changes to the allocation of storage of T1 customers.


This was an item that was raised during the proceeding.


MR. THOMPSON:  Well, as of the date of the NGEIR proceeding, did you feel bound by the 2000 settlement agreement and the provisions contained therein?  You had honoured it ever since 2000.


MR. MacEACHERON:  Yes, yes.


MR. THOMPSON:  I suggest to you you still considered yourselves bound by it.


MR. MacEACHERON:  I would agree with that, yes.  


MR. THOMPSON:  All right.  And so when IGUA made a submission about the agreement should be preserved on the grounds of estoppel, do you know what estoppel is?


MR. MacEACHERON:  I think I might have a rough understanding, but if you would like to explain it --


MR. THOMPSON:  If somebody makes a representation and a third party relies on it, then estoppel holds that the representor is bound by the representation.  It is not quite as strong as a promise in a contract, but it is close.  Is that your sort of big picture concept of what it is all about?


MR. MacEACHERON:  Yes.  And I recall the Board in its decisions referring to it and saying they do not accept the estoppel argument advanced by IGUA in its decision in this matter.


MR. THOMPSON:  My point is this.  We were saying you are bound by your contract, and you agree with that position.  You are bound by your contract.


MR. MacEACHERON:  We are bound by our contracts, but all of our contracts for in-franchise business is subject to the direction we receive from the Ontario Energy Board, ultimately.


MR. THOMPSON:  But as between IGUA and Union, there is no dispute on that proposition.  You are bound by your contract.  

MR. MacEACHERON:  We were bound by that contract.  But as I say, all contracts are subject to the Board's direction.  

MR. THOMPSON:  All right.  Now, you mentioned a moment ago that there was no issue in the NGEIR about clawback of storage space from existing in-franchise customers.  Right?  

MR. MacEACHERON:  I don't recall that.  Mentioned -- 

MR. THOMPSON:  Well, nobody was asking for permission to claw back space.  Union was not -- 

MR. MacEACHERON:  That's correct.  

MR. THOMPSON:  Right?  Permission to claw back space from existing in-franchise T1 customers?  You weren't asking for that in NGEIR.  

MR. MacEACHERON:  We did not ask anything of or advance any proposals with respect to the allocation of space to T1 customers in that proceeding.  

What we were asked to do by the Board in their direction to us was to develop a policy for allocating a reasonable amount of space to our in-franchise T1 customers, to accommodate the balancing of their obligated supply versus their variable end use demand.  There was no mention of the word "claw back" nor did we approach it from that perspective.  

We approached it from the perspective of allocating an amount of space that was reasonable to our T1 customers.  

MR. THOMPSON:  But the subject matter of clawback did come up in the NGEIR proceedings.  And what Union was exercised about was the possibility that some space might be clawed back from its ex-franchise customers.  Do you recall that?  

MR. MacEACHERON:  No, I'm not aware of that.  

MR. THOMPSON:  You're not aware of that?  Okay, well, let's see if I can help you with that.  

If you go to paragraph 18 of the IGUA submission.  We say:

"The only context in which the clawback of storage space arose in the NGEIR proceedings related to the question of whether the storage needs of Union's in-franchise customers should be accorded priority over the storage needs of its ex-franchise customers.  In rejecting the contention that the storage services needs of in-franchise customers should be accorded priority over those of Union's ex-franchise customers, the Board relied upon, inter alia, arguments that permitting clawback of storage services Union contractually provides to ex-franchise customers would be unfair and unreasonable." 

If you go to tab 8 you will see the excerpts from the Board's decision dealing with that topic.  At page 78, you will see a paraphrase of Union's submissions with respect to the appropriateness of clawback.  

Then starting at pages 79 and following, you have the Board's Decision on that subject.  I suggest to you, a fair read of it is that one of the factors on which Union was relying was clawback would be unfair and unreasonable.  

Do you agree?  

MR. MacEACHERON:  In this example here which you're referring to as the clawback of market priced storage to ex-franchise customers?  

MR. THOMPSON:  Clawback of contractual allocations  is what it is.  

MR. MacEACHERON:  I don't see the linkage that you are making here between the clawback of market based storage and the allocation of cost-based storage to T1 customers.  

I don't view it as a clawback.  I view it as what -- as we approached this task was one of, what is a reasonable allocation of a cost-based storage amount to a T1 customer?  

MR. THOMPSON:  So you don't view it as a clawback?  

MR. MacEACHERON:  In some cases customers are getting more storage, so, no.  In some cases, customers' current allocations of storage will be reduced, but that was not the intent.  There was no answer at the back of the book attempting to achieve a certain level of, as you referred to it, clawback.  

What we did we approached it from what is reasonable for our T1 customers to balance their obligated supply versus their end use consumption.  

MR. THOMPSON:  Go to, if you wouldn't mind, tab 16 of the IGUA brief.  Towards the back, you will see Exhibit A2.10.   

MR. MacEACHERON:  Did you say Exhibit A2.10?  

MR. THOMPSON:  Yes.  At attachment -- do you have that?  

MR. MacEACHERON:  Yes.  

MR. THOMPSON:  I'm suggesting to you that what this is showing is that under your proposals of the contracted space to the grandfathered subset of 4.8 petaJoules, you will be taking back 2.9 petaJoules or over 60 percent.  I suggest that is a clawback.

MR. MacEACHERON:  It's a reduction of storage, based on a reallocation, based on the customer's needs, reasonable needs of that storage space to balance their obligated supply versus their end use.  

Recall at least 21 of these customers had storage allocated to them in a method unrelated to the method that we agreed to in the settlement agreement, that being the aggregate excess method.  

MR. THOMPSON:  In terms of those who made their deals subsequent to 2000, what you will be taking back, I suggest, at line 6 of the variance column, is about 500,000 gJs, about 20 percent of the -– sorry, about 25 percent of the contracted space.  Over 60 percent in one case, 25 percent in another.  Do you agree?  

MR. MacEACHERON:  That number is based on a one-year aggregate excess analysis, when our proposal was to use two years of history and one year of forecast to be provided by the customer.  That number might be a bit large from the point of view of it not being done in accordance with what our proposal is, as we talked about before at the technical conference.  Our proposal is to use two years history, one year forecast.  

MR. THOMPSON:  This is all the impact evidence we have.  You haven't shown us what two years of actual and one year of forecast will produce.  

What we have here is -- 

MR. MacEACHERON:  Yes, yes.  It is a reasonable estimate, but it's not to be taken as actual until we get forecasts from customers as we approach renewal.  

MR. THOMPSON:  All right.

Now, in terms of the issue of the sanctity of promises, the matter came up on issues day and you will find that discussion, paragraph 45 of our submission.  

The material you will find at tab 18.  And it is to the material at tab 18 that I wanted to take you.  

And what this was about was Mr. Harbell's submissions on behalf of one of the customers in the longer term contract category.  Are you familiar with this material?  

MR. MacEACHERON:  Yes.  

MR. THOMPSON:  Just to put it in context.  If you go to tab 16, attachment A2.1, down in the longer term contract category there are five customers at the bottom of the page.  Am I correct, Mr. MacEacheron?  

MR. MacEACHERON:  That's correct.  

MR. THOMPSON:  And Mr. Harbell was talking about one of those contracts and he put on the public record -- so I think I am all right to be speaking about this -- an order which was marked at transcript page 94.  You will find that at tab 18.  It was the Board decision and order dated December 20, 2002 and it related to his client's predecessor, Coral.  Would you take that subject to check?


MR. MacEACHERON:  Yes.


MR. THOMPSON:  And Coral has since been taken over by Shell.  You will find that order that Mr. Harbell marked on issues day at tab 17 of our brief.  It's the second order in.


Would you take that subject to check?


MR. MacEACHERON:  Yes.  I found the second order at tab 17.


MR. THOMPSON:  You will see that the volume is 1,069,100 gJs, 1 Bcf.  That's in the second paragraph of the decision and order.  Are you with me?


MR. MacEACHERON:  I am looking for that.


MR. THOMPSON:  Okay.  Go in --


MR. KAISER:  Line 9.  


MR. THOMPSON:  Yes, line 9, Mr. Kaiser points out.


MR. MacEACHERON:  I might have the wrong document here in front of me.  I'm at your tab 17.


MR. THOMPSON:  Tab 17, you go into the second order.  The first one deals with commercial alcohols and so on, and then if you go in after that document, there is an application, which has the subject of a long-term contract between Union Gas Limited and Coral Energy Inc.


Do you have that?  Mr. Quigley seems to have it in his book.


MR. MacEACHERON:  Yes.  There are several orders in here, so I had gone to one thinking it was the second, but I think it was the fourth.  But is this it here?  Yes.


MR. THOMPSON:  So we're back on track?


MR. MacEACHERON:  I am with you.


MR. THOMPSON:  So you see the volume there is 1,069,100 gJs?  So if you flip back to tab 16, you will see that that particular customer gets nothing under an aggregate excess allocation; right?  Are with you me?


MR. MacEACHERON:  Yes, I'm with you.


MR. THOMPSON:  So do you agree with that?


MR. MacEACHERON:  Yes.  We explained in a letter to the Board, using the Lanxess example, why there was that type of variance that you would see in table A2.1.


MR. THOMPSON:  Sorry, a letter to the Board?  Is that a confidential document of some sort?


MS. WONG:  No.  It's filed as an exhibit.  Give me a second and I will tell you the exhibit number.  I believe it is A5.2, a letter dated November 30, 2007.


Do you have a copy, Mr. Thompson?


MR. THOMPSON:  I think I have, yes.


I'm looking at -- maybe it's not the same letter.  Is this a letter, IGUA request for additional information, Union's response?


MR. KAISER:  No, I think the heading is the letter from the Board dated November 28th.


MS. WONG:  Correct.


MR. KAISER:  There is two letters on that date from Union.


MR. THOMPSON:  Yes, okay.  I'm sorry.  So this is a letter you wrote about the Board's enquiry about Lanxess?


MR. MacEACHERON:  Yes.  The Lanxess, and the Board asked us to explain the variance, a similar variance that you are referring to in your question to me, where there is an allocated amount, yet there appears to be a zero amount in column B.


MR. THOMPSON:  This letter doesn't say anything about the Shell.


MR. MacEACHERON:  No, but the explanation in that letter is applicable to other customers.


MR. THOMPSON:  Well, whether it is or whether it isn't, your explanation is, what?


MR. MacEACHERON:  I will refer you to that letter and to the last paragraph in that letter on the first page.


I state -- or it is stated in that letter:

"In general, the variances between the two amounts of storage space reported in columns A and B of Exhibit 2.1 are related to using consumption information from different time periods in the aggregate excess formula.  Industrial customer consumption is influenced by such things as changes in business conditions or physical changes when the customer's end use facility..."


I am now referring in a general case here:

"...and as a result industrial consumption will often vary year over year.  This variation in consumption will directly influence the amount of storage space allocated using a consumption-based formula like the aggregate excess formula."


Then I go on in the letter to explain that that's why, in our proposal, we didn't rely on one year of history to calculate the aggregate excess amount.  We proposed using two years of history and a customer forecast, and the customer forecast weighted at 50 percent, to try and address anomalies that may appear in consumption.


MR. THOMPSON:  Okay.  Well, I wasn't really interested so much in the explanation as identifying, both in Exhibit A2.1 that we have been looking at, that the aggregate excess allocation based on the numbers in that exhibit for that particular customer would be zero; right?


MR. MacEACHERON:  That's correct, because column B, column B was based on one year of history for the period August 2005 to July 2006.  In that one particular year, when we applied the aggregate excess calculation, where you see a zero there, the aggregate excess was influenced by historical consumption in that one-year period.  That caused a zero allocation.


MR. THOMPSON:  All right.  Then you go back to the document that was filed in the NGEIR proceedings.  The same customer has zero.  That's a different time set for A&E; right?


You will find that at tab 5, second page.  It's customer AH.  Do you agree?


MR. MacEACHERON:  I do agree.  I'm not sure what time period was used in column B for that one, but...


MR. THOMPSON:  Well, it's a different time period, whatever it is.  I think that's clear from just looking at the two sets of numbers.  They're different for many other customers.


MR. MacEACHERON:  The time period we used in our A2.1 is August 2005 to July 2006.  This was prepared and filed in November of 2006.  So it's entirely possible that that time period is very close to this one.  I can't verify that right now.  I didn't prepare this schedule.


MR. THOMPSON:  If you look at the numbers for several customers, they have changed quite materially.  It shows the volatility of taking different time frames, if nothing else.


MR. MacEACHERON:  Yes, exactly.  And that's why we -- when we first proposed our allocation policy, we initially came out with using a one-year historical period very similar to the undertaking that the Board Panel saw in the NGEIR proceeding.


MR. THOMPSON:  You told me that several times.  At one year, and then you have stretched it to two years actual, one-year forecast.


MR. MacEACHERON:  Exactly.


MR. THOMPSON:  Okay.  We've got that point.


MR. MacEACHERON:  Exactly.


MR. THOMPSON:  But whether you do that or you do it this way, it is still quite a volatile calculation, as these numbers show.


MR. MacEACHERON:  The numbers can vary depending on the period of time that you take, but when you do incorporate a forecast of the period looking forward and weighted at 50 percent, it was our view that that tends to dampen out the lower weighted historical years, each at 25 percent.  There is quite a dampening effect there.  Again what we're trying to do is address the anomalies in historical consumption. 

MR. THOMPSON:  But the rule that you're varying with that proposal is the rollover rule.  Right?  

MR. MacEACHERON:  No.  What we are proposing is to reallocate the storage every year at renewal.  And using the two years of history and one year of forecast is how we'll input the numbers into the calculation.  But separate from that, what we are proposing is to refresh the allocations each year at renewal.  

MR. THOMPSON:  If your proposal is rejected and the regime in place today continues for these existing customers, the rollover rule will apply as it has for the past 20 years.


Their contracted space will be rolled over unless they have changed their CD by plus or minus 5 percent.

MR. MacEACHERON:  You're describing a situation, a hypothetical situation where this hearing does not exist?  Or there is no decision from it?  

MR. THOMPSON:  I'm talking about the existing rule which your proposal to have A and E refreshed every year changes and it's the rollover rule.  

MR. MacEACHERON:  Hm-hmm.  

MR. THOMPSON:  Thank you.  

MR. MacEACHERON:  I thought we explained at the time of that undertaking that you referred to in the NGEIR proceeding, we explained why there was a variance between the column B and the column A which reflected the amount currently under contract with each T1 customer.  

One of the explanations was, indeed, that we roll over the allocation.  We do not refresh it each year unless there is a significant change at the customer's end use facility, and that was -- that was known to the Board.  And they repeated that in their decision.  They understood that.  But nevertheless they said, We want you to develop a policy that allocates storage in a consistent and standardized manner to all of your T1 customers, and that's exactly what we did and we thought, from a consistency point of view, refreshing it every year made sense.  

MR. THOMPSON:  Right.  Let's move on.  

Now, before I come back to the issues -- 

MR. RUPERT:  Mr. Thompson, do you mind before you move on.  

MR. THOMPSON:  Yes.  

MR. RUPERT:  Mr. MacEacheron, I just wanted to clarify on this Lanxess letter and this is a different point than Mr. Thompson was asking you about.  But I read your letter, maybe incorrectly, to say that the explanation in the letter would be applicable to those customers in Exhibit A2.1, that were the non-grandfathered, non-long-term customers, i.e., the five long-term customers at the bottom I read this letter maybe wrongly to say the explanation you provided department really -- wasn't intended to apply to them because most of them, not all of them, most of them are gas-fired generators who would be unlikely to have the seasonal profiles that would give you much aggregate excess space at all. 

So I read your Lanxess response to -- I wonder if you could confirm whether I read it right or wrong -- to apply only to the middle group of customers in A2.1, that I didn't read it to say that your letter explained why customer AV, which I guess is Coral Energy, has zero aggregate excess in the schedule.  Did I read the letter wrong?  Was your letter intended to apply to all customers?  

MR. MacEACHERON:  It really was intended to apply to all customers, reflecting the fact that there are changes at the end use location and that when you take a specific 12-month period of time, if there happens to be an anomaly at that plant.  

For instance, if it is a new contract and they're just starting up and we initiated the contract on November 1 and we allocated storage for the contract period beginning November 1, but the customer did not, perhaps, commission their plant as they expected, they started to pay the demand charges effective November 1 because of our facilities are in place, but their equipment may not be running properly or up to speed or even full production.  

Typically the first year or maybe even second year of a new load, you're not going to see the full production, that perhaps was reflected in the forecast that was given to the customer, that the customer gave us, that we then developed the aggregate excess on and then applied it for the multiple years.  

But it is meant to be an explanation of why you're going to see variances when you take a look at any period of time versus what we calculate. 

MR. RUPERT:  We will get back to this later.  Sorry, Mr. Thompson we will get back to this later.  

MR. THOMPSON:  I need all the help I can get.  Just before I move on here, Mr. MacEacheron, I want to take you back to tab 2 for a moment.  Just keep your finger on tab 5, where we've got the exhibit that the Board discussed in its decision.  

If you go back to tab 2 at page 87.  You will see there were two customers the Board specifically mentioned in its decision.  One with -- this is in reference to this exhibit that is at tab 5.  One had a contractual allocation of 1,434,120 gJs and you will see that is customer D.  At tab 5.  Would you take that subject to check?

MR. MacEACHERON:  Yes. 

MR. THOMPSON:  The second customer mentions -– refers to a contract of 1,100,000 gJs and aggregate excess in the amount of zero.  I think that is referring to customer AH, because that is the only one that is close to one million one with an AE of zero.  Would you agree with that interpretation?  

MR. MacEACHERON:  Yes, I would agree with that.  

MR. THOMPSON:  So the point I want to put to you is this, Mr. MacEacheron:  If the NGEIR decision directives are to be interpreted as directives to override contract sanctity, then Shell's contract should be the first to go.  It is specifically mentioned in the decision and it's at zero under AE.


MR. MacEACHERON:  Again, you are basing your conclusions on an aggregate excess calculation that was done based on one year of actual consumption and the events within that one-year period may not reflect the events, you know, intended for the operation of that contract and that facility.  I know my example again being a start up. 

MR. THOMPSON:  Well, this is the evidence that you have based your proposal on, in terms of trying to evaluate its impacts.  

But my point is this:  The promise you made in the 2000 settlement agreement was intended to endure beyond a year.  The promise you made to Shell are intended to endure beyond a year.  

And if contract sanctity prevails, they both stand on the same footing.  Don't you agree?  

MR. MacEACHERON:  The contracts are different.  The contract -- the issue of our long-term T1 contracts was discussed extensively, as I understand it, at Issues Day and it was decided at that day that those contracts would be excluded from this proceeding.  But it was nevertheless reviewed at Issues Day.  And it was decided and I think agreed to by all, that it would be excluded from the issues list.  

MR. THOMPSON:  Right.  But my point is this:  The principle is the same. 

MR. MacEACHERON:  Now we are reviewing the allocation to the non-long-term T1 contracts in this proceeding. 

MR. THOMPSON:  We are talking about the sanctity of a promise that was intended to have an enduring effect.  I suggest to you they're indistinguishable from a promise made for a term of 20 years.  

MR. MacEACHERON:  I understand that's what your submission is, but what I am pointing to is the fact that at issues day, the long-term contracts were discussed.  So they were on the table along with, for consideration, along with all of our other T1s and at issues day it was decided that those contracts would be excluded from this proceeding.  And that, I believe all parties to that issues day agreed with that.  

So now what we have is the remaining T1 contracts, the majority, the vast majority of our T1 contracts, remaining to be decided in this proceeding.


MR. THOMPSON:  I suggest to you, Mr. MacEacheron, that if Union were consistently adhering to the sanctity of contract principle, it would not be proposing to claw back - my word, not yours - space or deliverability from existing T1 customers unless the material change provision was engaged.  Do you agree with that?


MR. MacEACHERON:  When we were given the task to look at what is reasonable and we looked at all of our T1 customers.  I can visualize two of them, located side by side, similar, in like businesses.  One went T1 in the mid to late '90s, and their storage allocation was frozen as part of the settlement agreement.  The other one was allocated storage pursuant to the aggregate excess methodology post 2000.


These are similar and like customers, and yet one has a significant, greater amount of storage allocated to it at Union's cost than the other.  And, quite frankly, I struggled with the reasonableness of that and, with that, saw the purpose perhaps behind the Board's directive to us to allocate -- to come up with a policy that allocates storage to all T1 customers in a manner that is fair and reasonable, consistent and standardized.


MR. THOMPSON:  If it is fair for Shell to continue to have an allocation that appears on its face to be quite inconsistent with the AE method and for the other five long-term contracts specifically approved by the Board, I suggest it's fair for my clients, who had the benefit of the promise you made in 2000, to be treated similarly.


MS. WONG:  Excuse me, Mr. Thompson, you're going into argument now.  You have the witness's answer.  I don't think it is going to change if you keep asking the same question.  He has told you what the reason was.


MR. KAISER:  I think that's right, Mr. Thompson.


MR. THOMPSON:  Let's move on.


There is just one other point that came out of the transcript yesterday that I wanted to touch on with you, and it was a discussion you were having with Mr. Rupert and it occurred at transcript 136, where Mr. Rupert was asking:  Why grandfather?  Why grandfather?  Why was there a need to grandfather anybody?


Do you recall that discussion?


MR. MacEACHERON:  Yes.


MR. THOMPSON:  And it sounds to me like Mr. Rupert wants to understand what went on back in 2000.  And my question is:  First of all, were you a Union witness back in 2000?


MR. MacEACHERON:  No, I was not.


MR. THOMPSON:  Do you know what the rationale was for the grandfathering?


MR. MacEACHERON:  Not directly, no.


MR. THOMPSON:  Do you know indirectly?


MR. MacEACHERON:  I answered the question with what I believed to be the circumstances at the time, and that being not wanting to adjust prior allocated T1 customers with the new allocation methodology, and that the grandfathering, in my view, was more of a measure to transition those customers to the new methodology.


MR. THOMPSON:  Are you guessing?


MR. MacEACHERON:  That's my understanding.  You're correct, I was not there.


MR. THOMPSON:  Well, do you know, for example, the additional commitments that customers took when they went to T1 service back in the days before 2000, even subsequent to 2000, such as upstream transportation?  They took assignments of the upstream transportation from -- on TransCanada from Union.


MR. MacEACHERON:  Absolutely.  That was a fundamental requirement to accommodate a customer's movement from our sales service to a direct purchase service.  Otherwise, the utility and its ratepayers would be -- they would have unabsorbed demand charges visited upon them associated with the upstream obligations that the utility had made to transport system gas to Union.


MR. THOMPSON:  These were longer-term commitments that Union held on TCPL; right?


MR. MacEACHERON:  Yes.


MR. THOMPSON:  And --


MR. MacEACHERON:  Multi-year commitments of varying lengths.


MR. THOMPSON:  Yes.


MR. MacEACHERON:  The majority of our direct purchase customers today have turned back most of those commitments.  A good chunk of those commitments have been turned back.


MR. THOMPSON:  But some haven't.


MR. MacEACHERON:  Yes.


MR. THOMPSON:  Right?  Ms. Passmore, if you have something to say --


MS. PASSMORE:  Yes.  Less than 10 percent of our T1 customers actually still have contracted long-haul TCPL that Union has facilitated, so there is less than 10 percent of their obligated DCQ arrives at Empress.  The rest of the customers have decontracted, have turned back their TransCanada capacity and made their own arrangements for gas supply to arrive at Parkway on an obligated basis.


MR. THOMPSON:  But the longer-term commitments are significant commitments as part of this overall move to T1 service?


MR. MacEACHERON:  Absolutely.  It enabled Union to accommodate the direct purchase service so that our industrial customers at the time could source their own supply of gas in western Canada and realize the financial benefit from that.


MR. THOMPSON:  You can't have oscillating space allocations and deliverability allocations going hand in hand with upstream longer-term commitments.  One of the reasons, I suggest to you, that things were grandfathered and the rollover rule was in place was because of the framework of contractual arrangements that the customers took over, including upstream transportation.


MR. MacEACHERON:  That's the obligated DCQ, what you're referring to, the obligation of our direct purchase customers to deliver gas to us.


And that is exactly what we looked at when we looked at:  What are the reasonable balancing needs of those customers?  We looked at their supply arriving on our system every day, 365 days of the year, through the obligated DCQ, and looked at their consumption, and then calculated what their balancing requirements would be associated with that.  


And as I mentioned yesterday, and we talked about at length yesterday, the T1 customers, in particular, have a hands-on gas management balancing function when they adopt the T1 service.


They are expected and they actively do shed supply, and they bring in incremental supply.  And I think, as I mentioned yesterday, 30 percent -- over 30 percent of the total obligated supply delivered to Union in 2006, the equivalent of that was either shed or brought in incrementally through -- by our existing customers, T1 customers.


MR. THOMPSON:  Well, I think we're on the same page.  What I am suggesting to you is that the nature of the commitments undertaken by T1 customers, including assignment of upstream transportation, the delivery commitment, DCQ, 365 days a year, they would have to make gas supply arrangements; right?


MR. MacEACHERON:  Absolutely.


MR. THOMPSON:  To accommodate this.  And do you know if they were longer-term gas supply arrangements that they made?


MR. MacEACHERON:  I don't know the nature of the supply arrangements that underpin these.


MR. THOMPSON:  And then some of them hired an agent to help them manage their storage allocation.  So there is a whole framework of contracts there, would you agree?


MR. MacEACHERON:  Absolutely.  The use of marketers today is very prevalent.  I mean almost all of our T1 customers use a marketer for the very basic supply service, and, if you go to the other end of the scale, they basically assign the full management of their space and their T1 contract to these marketers to manage.  


And that's where I struggle a little bit with when space is allocated to a T1 customer amount in excess of what they reasonably need.  That simply enables, then -- that surplus space simply enables the ability to play the market with that space.


MR. THOMPSON:  Well, we will come to that with the IGUA people.  You can take your shot at them on that.


But what I am suggesting to you, Mr. MacEacheron, is that to make the transition work to T-service, you have to have an allocation that's stable and predictable, because if it's not, you throw all of these other arrangements into disarray.  

Do you agree?  

MR. MacEACHERON:  That is why we propose the two years history, one year forecast, to try and build that stability year over year.  

We were trying to balance refreshing and allocation, and keeping it current so that there was a consistent and reasonable allocation to each customer with this variability.  

And what we arrived at -- and through quite a bit of discussion with our T1 customers, was the proposed approach of using the two years of history and then the one year of forecast which, again, we're weighting at 50 percent, which does tend to dampen out significantly unexpected events that might be there in the history.


MR. THOMPSON:  That is why you proposed from the outset contracts will renew automatically, and that is why you had the rollover rule, because of considerations of stability and predictability.  Do you agree with that?  

MR. MacEACHERON:  Yes, I would.  As well as I would add to that administrative ease, which, today, is a lot easier to perform with some of the computers and technical aids that we have today.  The administrative issues perhaps of the past are not as great.  But it was also administratively easier just to rollover a contract.  But then that did create some of the variances that the Board observed and asked us to address in their decision pursuant to the storage NGEIR proceeding.  

MR. THOMPSON:  And I suggest to you that maintaining stability and predictability in allocations is a very valid reason for rollover and for grandfathering.  Do you agree?  

MR. MacEACHERON:  Not necessarily, no.  Where there is a significant change at the customer's end-use facility, it makes no sense to rollover an allocation of space that is no longer needed.  

MR. THOMPSON:  When I use the rollover phrase, I am using it subject to the material change exception.  Okay.  

Your rollover rule is subject to change in the event of material change in CD.  Correct?  

MR. MacEACHERON:  That's the rule that we -- or the practice that we had put in place.  

MR. THOMPSON:  And that's what was continued in 2000. 

MR. MacEACHERON:  That's what was continued.  

MR. THOMPSON:  And I suggest to you the need for stability and predictability in allocations continues today.


MR. MacEACHERON:  And I would agree, and that's why our proposal is as we've proposed, with the two years history, one year forecast.  And to the extent, I would add to that, and we -- I don't think I mentioned it to this point.  Our proposal also addresses the fact where a customer says, Wait a minute.  My future plans are not well reflected by the two years of history, and I really would like to use a forecast only for my storage allocation.  

What we have proposed is, in that circumstance, as evidenced by a change in DCQ by greater than or equal to 
5 percent, that we will work with the customer and their forecast and use only that forecast to calculate the storage allocation for the contract period and continue to do that until the history is established that reflects whatever that significant change was at the plant and then, as our proposal goes on to say, then we would revert to every two years -- two years history, one year forecast. 

So we have also built in that forecast component, as well, where we will rely upon a customer forecast.  

MR. THOMPSON:  There is two scenarios here, Mr. MacEacheron.  We could, maybe, find a common ground that some allocations might be unreasonably excessive.  Certainly not the number you think are, but some might.  That's one thing.  

But to abandon the rollover rule, which has things changing every year -- I don't care how much you try to smooth it out, your proposal is going to introduce volatility and uncertainty and unpredictability and that's going to make planning more difficult for these customers.  Isn't that right?  

MR. MacEACHERON:  I don't agree with that, no.  

MR. THOMPSON:  Well, it's self-evident.  

MR. MacEACHERON:  I think that our proposal is reasonable, using two years of history, actuals -- actuals talk.  I mean that reflects the actual consumption of the customer for the last two years.  And then the customer is going to look at his business going forward and project what their requirements will be and give us a forecast and we'll sit down and discuss that forecast and then incorporate it and weight it at 50 percent.  

I suggest that addresses potential for variability and -- I do share with you the concern that unless you have something in a proposal such as that, you might, indeed, see year-over-year variations as you have noted in this column, where when you take one particular year of data you might come up with a zero just based on something that happened, a business event, whatever that happened at that plant.  

So I certainly share your concerns in that regard and that is why we propose the two years of history and one year of forecast, because of the existence of the potential for one month or two months or three months of bad data in there, reflecting bad business arrangements or whatever for that particular customer.  

MR. KAISER:  Mr. MacEacheron, on that question of planning and uncertainty, I understand the weighting.  I was concerned about your one comment.  The customer puts forward a forecast that you said, We sit down and discuss it with them.  

MR. MacEACHERON:  Yes.  

MR. KAISER:  My question is a little bit different.  If I put forward a forecast, do you accept my forecast?  Or do you question it?  

MR. MacEACHERON:  We would check it for reasonableness.  If the forecast -- for instance I will give you an example.  I had one customer give me a forecast and when I looked at it, I realized right away what that customer had done is just taken their annual consumption, divided it by 365 to come up with a daily consumption or DCQ, and then multiplied it by the days of the month.  

And the customer, not recognizing the impact that that would have on a storage allocation, said:  Wait a minute.  This isn't your forecast and the total is correct.  I said, no, no, but the month letter -- we need to look and we need a forecast from you that is apportioned monthly as accurately as you can get it.  

And so the customer recognized that, said oh, went back provided us with a forecast that reflected their monthly expected consumption.  We then checked it against historical to see, are we seeing that same pattern?
 Well, a lull maybe in August or a typical shutdown maybe in September.  Are we seeing that kind of typical pattern?  If not, we talked to them about that, why don't we see this or what do we see here.  At the end we ultimately agree on a forecast and that will establish the DCQ for the customer and the delivery commitment that they're going to make to us for the next 365 days.

MR. KAISER:  You also mentioned the case where I can go on 100 percent forecast.  

MR. MacEACHERON:  Yes.  

MR. KAISER:  What do I have to establish before I fall into that category?  

MR. MacEACHERON:  You would advise us that there's been a significant change at my plant.  We have just installed a new boiler, new gas-fired boiler and we have, for example, a new gas-fired boiler and we have displaced this old oil boiler.  And my gas consumption, we expect, will go up.  

So we will ask for a forecast.  And sure enough it will be seen in that forecast, and that forecast will establish the DCQ for that customer and the contract term looking forward.  

If that DCQ is greater than 5 percent then existing DCQ then we will use that as a signal, yes, there's been a significant change at your plant as evidenced by the fact that you are willing to obligate an incremental 5 percent more supply to Union or more.  There's obviously been a change here.  

So we will sit down and accept that forecast, set aside the history and calculate the aggregate excess based on that forecast.  

One year later, we will again review the plant at renewal pursuant to our proposal and because if the history is probably not established yet, we only have one year of that history, we will still work with the customer using that forecast and develop the AE allocation amount and establish that for the next contract term going forward.  And then once we have a good history for that customer, that establishes that new gas-fired boiler being in operation, then we will revert to two years history, one year forecast.  

MR. KAISER:  Thank you.  

MR. THOMPSON:  I want to move on, before I leave this contract sanctity topic and discussion you had with Mr. Rupert, to one other agreement which we say your proposals are incompatible with, and that's the NGEIR settlement agreement.  This is discussed in paragraphs 19, 20 and 21 of the IGUA material.

There were two issues in the -- two main issues in NGEIR.  One had to do with new services for gas-fired generators and the other had to do with the method of storage regulation.

Would you agree with that, Mr. MacEacheron?

MR. MacEACHERON:  Yes.  Yes.

MR. THOMPSON:  Thanks.  And in the settlement agreement dealing with issue 1, the new services for power generators, there were certain provisions -- well, just before going to the document, do you agree that the negotiations of this deal were primarily as between Union and APPrO, and, once those two had sorted out their problems, others joined in?  Is that fair, from your knowledge of what happened?

MR. MacEACHERON:  I can't comment one way or the other on that.  I was not there for that, so I can't comment on that.

MR. THOMPSON:  All right.  In any event, the agreement with all parties joining in had some provisions which my client considered to be of considerable importance.

I wanted to take you to them now.  One is at page 7 under tab 9, where Union describes the principles that it has adhered to in developing these proposals -- well, in developing this settlement for gas-fired generators.

Do you have page 7 there, Mr. MacEacheron?

MR. MacEACHERON:  Yes, I do.  Yes.

MR. THOMPSON:  In the first paragraph, the guiding principles are described as follows:
"When proposing new services or modifications to existing services, Union has adhered to the following guiding principles."

The first one is:
"The introduction of new services or service enhancements should have no negative impact on the service to existing customers, either financial burden or reduction in service quality."

Can we take that as a promise by Union?

MR. MacEACHERON:  I think you can --

MS. PASSMORE:  I will speak to this one.  These were the principles that were developed versus the -- in the NGEIR rates and services.

Mr. Thompson, we can refer to Exhibit A2.7, Union's response to an interrogatory on this issue from IGUA.

As we pointed out, there was only two -- these principles were dealing with the issues of the NGEIR proceeding, which were, one, rates and services for gas-fired generators, and storage regulation.

MR. THOMPSON:  Yes.  Yes, didn't I just say that?

MS. PASSMORE:  But, sir, this had nothing to do with grandfathering.  The issues that were on that day and the principles that were adhered to to address those issues, and the issues were the rates and services for gas-fired generation and storage regulation.

MR. THOMPSON:  I didn't suggest it had anything to do with grandfathering, did I?  Did you think I did?

MS. PASSMORE:  You were referring to, once again, claims.

MR. THOMPSON:  I was referring to a new contract in which I see some promises by Union.  One is that the introduction of these services should have no negative impact on the service to existing customers, either financial burden or reduction in service quality.  Was that a promise by Union?

MS. PASSMORE:  In that proceeding relating to those two issues.

MR. THOMPSON:  Right, okay.  And then a little later on at page 15 and 16, when you're describing these new non-obligated services for the power generators to meet their needs, the agreement says:
"The settlement of this issue has no identifiable adverse impacts on existing customers, because the provision of storage services to these new T1 and U7 customers does not involve clawback of storage space or deliverability from existing customers."

MS. PASSMORE:  And that is correct.

MR. THOMPSON:  That was a promise by Union.

MS. PASSMORE:  And that is what took place.  The F24-T, the F24-S, the UPBS and DPBS services and the high deliverability storage service that were approved within this proceeding did not impact any clawback of storage space to existing T1 customers.

MR. THOMPSON:  Well, let's follow that through.

The new services in the -- in this agreement were new non-obligated T1 and U7 services?

MS. PASSMORE:  That is correct.

MR. THOMPSON:  And I paraphrase the services as being more unbundled than the existing services.  Would you accept that?  The existing DCQ T1 obligated services are, from my perspective, much more bundled than the non-obligated T1 services that this agreement...

MS. PASSMORE:  This agreement certainly referred to customers that were new on the system or new loads on the system that were not underpinned by existing Dawn-Parkway capacity that, thus, required the obligation at Parkway.

MR. THOMPSON:  But this non-obligated service has with it a number of options for those who select it.  It may not be there to the same degree for DCQ obligated services.

For example, they can do a lot of things without Union's consent; right?

MS. PASSMORE:  They do not need authorization, since they have a non-obligated DCQ.  So they don't need authorization to mitigate the obligated DCQ; that is correct.

MR. THOMPSON:  And so they can probably get by with less space than those that are obligated, but whether you agree with that or not, what you have done with these new services that were approved in that agreement is you now use them to support the clawbacks from existing T1 customers.

You say, now, process load customers are like power generators, and the deal we have with power generators is non-obligated, with a bunch of bells and whistles, and, therefore, we're going to rely on these new services to have an adverse impact on existing T1 customers.  Do you see that?

MR. MacEACHERON:  I do not agree with that at all, no.

What we did was we proposed an additional allocation methodology.  In the absence of any additional methodology, a process load customer currently in our bundled service or maybe brand new to our service area wanting to go T1 service, wanting to go T1, we would only have -- if they were less than the 1.2 million, they were one of our non-large, non-power customers, would not receive an appropriate allocation, potentially, under the aggregate excess methodology.

There wasn't a methodology available, approved by the Board, that would allocate cost-based storage to a process load type customer.

And so pursuant to the Board's directive, we developed an additional methodology that will allocate storage to a process load customer.

MR. THOMPSON:  And, by analogy, to the new services that you said would have no adverse effect on existing customers.

MR. MacEACHERON:  And they did have no adverse effect on existing customers.

MR. THOMPSON:  Well, if you use it as an analogy to develop a new service that's going to claw back contracted allocations, it seems to me that they're having an adverse effect.

MR. MacEACHERON:  The only analogy we used was the analogy to our original proposal, wherein we were looking at a multiple of deliverability, but we subsequently amended that proposal and now we're looking at a multiple of DCQ, and, with that, almost, the analogy ends.

We're now looking at process load customers and additional methodology.  They are free to select the aggregate excess methodology, if that is what they would like, but they are likely to get more storage from our proposed additional methodology than they would through the aggregate excess.

MR. THOMPSON:  We're trying to come up with an additional methodology that meets their reasonable needs.

MR. MacEACHERON:  Right.  

MR. THOMPSON:  Yes.  Yours may not do it.  Can you possibly envisage that?  

MR. MacEACHERON:  We worked -- we worked quite hard on this, this issue, this task --


MR. THOMPSON:  I don't care if you worked a trillion years.  Can you get your head around the fact it may not be good enough?  

MR. MacEACHERON:  -- and we are here today and what we filed today is a proposal we feel is reasonable.  We wouldn't have filed it if we didn't feel it was reasonable.  

MR. THOMPSON:  Well, that's general bull moose if I ever heard it.   

In any event, let's try and just follow up on this analogy that you say wasn't made to support your proposal.  

First of all, if I could just take you to -- I will try to finish this topic, Mr. Chairman, if that is acceptable prior to the break.  If I could take you to the slides that are part of, I think it is Exhibit A1.  This is the February 2 material.  

And in developing -- well, just to put this in context.  If you go to slide 1, you will see the topics on the agenda for your customer meeting are listed there in slide number 2.  

MR. MacEACHERON:  That's correct.  

MR. THOMPSON:  Natural Gas Electricity Interface Review, review of current T1 service, T1 storage allocation policy.  You were making that presentation, the last item, Mr. MacEacheron?  

MR. MacEACHERON:  The last presentation, T1 storage allocation policy.  That's correct.  

MR. THOMPSON:  And at slide -- page 6, slide 11, there is reference made to the new power and equivalent large customer approved methodology.  Right?  

MR. MacEACHERON:  Correct.  

MR. THOMPSON:  Okay.  And then if we go over to a slide, 15, we see a reference once again to this methodology.  10X firm deliverability.  Right?  

MR. MacEACHERON:  That's correct.  That's in the context of the presentation that was trying to orientate our customers who attended that meeting to our current T1 service, sort of grounding everybody as to where we are at today before we discussed my presentation of where we are going with respect to our proposal.  

That was the point of the presentation.  We were looking for customer input and received it.  

MR. THOMPSON:  And then at slide 25, we see your proposal and it's rationalized on the basis that it is a similar approach to approve new power in large customer methodology.  Right?  

MR. MacEACHERON:  Yes, to the extent our original proposal was a 10X deliverability.  

MR. THOMPSON:  Well, the original proposal was circular.  Deliverability depended on space.  Right?  

MR. MacEACHERON:  Neither here nor there now.  We did change our proposal, as described in our supplemental evidence we changed it to 10X DCQ and delinked it from deliverability. 

MR. THOMPSON:  You had 10X deliverability with a cap of 10X DCQ. 

MR. MacEACHERON:  That's correct.  We simply made it 10X DCQ and removed any linkage to deliverability. 

MR. THOMPSON:  Took out the circular piece and it's now 10X DCQ.  

MR. MacEACHERON:  Yes.  

MR. THOMPSON:  Correct.  

MR. MacEACHERON:  Our customers, you know we had quite a bit of time go by since we filed this in February.  We heard input from various customers.  They didn't like the linkage to deliverability and we did not intend to draw -- want to drive customers to contract for deliverability simply to get more space.  So we delinked it and made it 10X DCQ, the original cap that we proposed.  Removing that linkage.  

MR. THOMPSON:  In addition to the slides, I suggest there are a number of places in your evidence where you rely on the analogy to power customers to support your proposal.  And, for example, Exhibit A3, at page 2, you say:  A T1 process load customer that wants storage service is similar to a power customer.  

All I'm suggesting to you is, by relying on the new rates that you proposed, that you simply have no impact to justify your proposal to have a very constrained space and deliverability allocation to T1 DCQ obligated customers.  You're making a proposition that is incompatible with that NGEIR settlement agreement.  

You don't agree with that, obviously?  

MR. MacEACHERON:  No, I do not agree with that.  

MR. THOMPSON:  This might be a convenient time to break, Mr. Chairman, if that is acceptable. 

MR. KAISER:  Thank you, Mr. Thompson.  15 minutes.  

--- Recess taken at 10:50 a.m.


--- Upon resuming at 11:15 a.m.

MR. KAISER:  Please be seated.  Mr. Thompson.

MR. THOMPSON:  Thank you, Mr. Chairman.

MR. MacEACHERON, I want to move on and deal with, if I could, the chronology of Union's response to the -- what I call the NGEIR directives, the allocation directives, storage allocation directives.

Now, the NGEIR decision was rendered I believe on November the 7th, 2006; is that correct?

MR. MacEACHERON:  I believe so, yes.

MR. THOMPSON:  And if you go to tab 2 of our brief, you will see the portion of the decision that contains the directives, and the directives are found at page 90 of the decision, middle of the page.  You discussed these in your examination-in-chief, I believe; is that fair?

MS. PASSMORE:  Yes.  Yes, we did.

MR. THOMPSON:  Are we on?  Okay, thanks.

Now, would you agree with me that the focus of the directives is customer needs?

MS. PASSMORE:  I would agree that the focus is reasonable customer needs; that is correct.

MR. THOMPSON:  All right.  Now, after the decision, Mr. MacEacheron, and I am having regard here for something you said to Ms. Campbell during the technical conference, but am I correct that you didn't go and ask any customers who might be affected by your new methodology what their needs were?

MR. MacEACHERON:  No, you're not correct in making that statement.

MR. THOMPSON:  Oh.  Well, perhaps you should turn up the transcript of the technical conference.  It's at page 195.  This was Ms. Campbell examining you on that date, which I think was November 8th, and at line 21, Ms. Campbell said:   
"So my question about reasonableness goes to the particular customers that are going to be affected by this, all of those T1 and I think T2 customers that are listed here.  Did they believe that it is in accordance with what they would reasonably require, or did you make that enquiry?  Can you answer that question?"

You said:   
"I can't say that I recall, you know, specifically putting to them:  Do you think this is reasonable?"

I took it from that response that you didn't survey your customers before you started working on this proposal that was presented to them in December of 2006.

MR. MacEACHERON:  And that's -- I'm specifically responding to her question about:  Did the customers communicate to you -- I think let me just read this for a second.

What we did do, and you turned to it earlier this morning, was the customer meeting that we had on December 13th in London.  Subject to check, I believe over 28 of our T1 customers were represented at that meeting, and that was the very early stages of our thinking with respect to our T1 proposal.

We had structured the proposal, and then assembled a meeting on fairly short notice, communicated to our customers the importance of that meeting and asked them to attend, and we had significant dialogue at that meeting with our customers.  And that's where we were able to incorporate some of the comments that we heard from customers, which I think reflected their views with respect to our proposal.

Subsequent to that meeting and before we filed on February 2nd, we met with IGUA and reviewed our proposal, and shared our thinking and received comments from IGUA on that.

Also, I can tell you that I personally attended several customer meetings between the time when we received the Board's directive to the date we filed, where I met with a number of our T1 customers to review -- particularly those who were significantly impacted, i.e., the grandfathered customers.  I met with a number of those customers, or representatives of Union certainly met with them, and discussed our proposal with them.

So it was a much discussed proposal.

MR. THOMPSON:  Before you -- the question was, really:  Before you formulated what you presented in the slide presentation, did you speak to any customers?

I take you to be saying, no, you didn't.  That was the beginning point of what you would describe as consultation.

MR. MacEACHERON:  The beginning point would be that meeting.  I would describe that as being that meeting on December 13th, approximately a month after we received the Board's directive.  We looked at the directive, and then came up with a straw man, and that is what we presented.

You can see two significant differences between what we are proposing in our filing of February 2nd versus what is captured in the slide presentation of December 13th.  In our slide presentation, for example, we proposed just using one year of history to -- as the input figures for the aggregate excess.  And our customers in that meeting expressed concerns saying, you know, One year of history is going to give you perhaps some variable -- variability in your results, in your answer.

Then we talked to them.  We had an open discussion with the customers.  After the formal presentation, we had about a two-hour open dialogue back and forth with the different customers in the room, every customer hearing the dialogue that was happening, and concerns related to using the one-year history were expressed and that's where we incorporated that into our proposal, the two years history, one year forecast, and the aspect of using just the forecast where there is a significant change.

We also made a couple of other adjustments in our proposal that were a direct result of the input that we received from customers.

MR. THOMPSON:  Well, we will hear from some customers who were there as to your idea of dialogue and perhaps theirs.  But I suggest to you by the time this slide presentation was pulled together, you were pretty firm in the direction you were headed.

One was to come up with a methodology that would force existing T1s, what you call the process loads, on to a model that was similar to the power companies; and, second, you were going to charge market-based rates for deliverability over 1.2 percent.  Those two proposals are pretty clear in that slide.

MR. MacEACHERON:  They're aspects of our original proposal that remained unchanged and were subsequently changed.  But at the meeting itself and through customer dialogue, we definitely reflected input into the proposal, and you can see it when you look at it.  

Again, I point to the forecast as one significant area.  I point to our subsequent adjustment of the proposal for 10X to 10X DCQ versus 10X deliverability as being responsive to the concerns we heard from customers.

MR. THOMPSON:  Did you go to large customers and say, What do you need today under your current conditions, given that year one is going to be hit with our proposals?  


My understanding is you did not.  


MR. MacEACHERON:  I may not have characterized it or phrased it as to, what do you need.  Because when you ask a customer who has been allocated, let's say, a million gJs of storage for the last 10 years and you ask them what they need, they're going to say I need what I've got.  


And what we did do is sit down with them and review their operation, review the balancing of their obligated DCQ with their varying end use consumption and we demonstrated how our proposal reflected what we thought was a reasonable allocation of space.  And we received input from the customers in that regard.  


MR. THOMPSON:  Now, in the IGUA material at paragraph 47, we referenced the slide presentation and then your slide presentation was followed by this e-mail letter to customers that is at tab 19.  Correct?  


MR. MacEACHERON:  We communicated our final proposal just prior to filing with our customers.  We shared it with our customers at the time we filed it.  


MR. THOMPSON:  That's this e-mail at tab 19?  


MR. MacEACHERON:  Yes.  I can't confirm that's the e-mail exactly, but...


MR. THOMPSON:  Well, would you take that subject to check?  


MR. MacEACHERON:  I would.  


MR. THOMPSON:  And then concurrently, I believe you were serving these contract termination and replacement notices, an example of which you see at tab 20.  Correct?  


MR. MacEACHERON:  That's correct.  


MR. THOMPSON:  So I suggest that's a pretty strong indication you had your mind made up.  There might have been some fine tuning but you knew where you were going.  


MR. MacEACHERON:  We filed our proposal on February 2nd.  


MR. THOMPSON:  Right. 


MR. MacEACHERON:  And at the time we weren't proposing the deliverability adjustments that you reference.  


We believed that the Board had decided that and we have subsequently rolled that back, reflecting what we heard at Issues Day and we're waiting the decision pursuant to this proceeding.  


MR. THOMPSON:  Now I would like to draw your attention to paragraph 48 of the IGUA material where we say:  

"The focus of Union's response to the NGEIR directives was not its customers needs, but proposals for enhancing the returns of its owner."


Would you agree with that?  


MR. MacEACHERON:  Absolutely not.  


MR. THOMPSON:  Well, the proposal to restrict the space to process loads enhances the returns of your owner.  It has that effect. 


MR. MacEACHERON:  Absolutely not.  


If we did not propose the 10X methodology, then a customer coming into our franchise area, let's say, and establishing a new industrial complex that was highly process load oriented, the only methodology we would have to allocate would be aggregate excess, that would likely allocate very little, if any, space to that process load customer.  Therefore, they would not go T1.  They would likely go bundled.  


So by proposing the additional methodology that we have, we're actually allocating more space than we otherwise would to a process load customer.  


MR. THOMPSON:  It's impact on existing customers, is what this is about, this hearing, would be to enhance the returns of your owner.  


You would end up with more excess space, which you would sell in the market and depending on where you sold it, the premiums would flow either in whole or in part to the owner.  No dispute about that, is there?  


MR. MacEACHERON:  I suggest that once the Board has heard all that they will hear in this proceeding, they're going to decide what is a reasonable allocation of space for T1 customers.  


I would therefore suggest that any amount of space that's surplus to that, above and beyond what is deemed by the Board to be reasonable, doesn't matter.  What we're here to decide is what is a reasonable amount of space to be allocated to a T1 customer.  


MR. THOMPSON:  The question I asked you:  Does your proposal enhance the returns to your owner?  


MR. MacEACHERON:  I don't know the answer to that.  


MR. THOMPSON:  You don't know the answer?  All right.  


The proposal to price deliverability at market certainly has that effect.  Would you agree?  


MR. MacEACHERON:  The proposal to price deliverability at market reflects the cost that Union needs to develop that high deliverability service.


MR. THOMPSON:  Does it enhance the returns to your owner?  Yes or no?  


MR. MacEACHERON:  It is my view that that price, that is current $2.28 price reflects what we used as the business case to support the development of incremental deliverability to provide high deliverability services.  


MR. THOMPSON:  An existing customer is paying today a cost-based rate for deliverability.  Under your proposal, tomorrow it will be a market based rate.  I suggest that enhances the returns to your owner.  It's obvious.  


MR. MacEACHERON:  Not if they don't select that high deliverability service, then they're free to pick a different method.  We're offering 1.2 percent at cost and we're offering the option to pick whatever level of deliverability you want above 1.2 percent, but we're proposing that that be priced at the market price.  That high deliverability service.  


MR. THOMPSON:  Your notice to customers said you are going to reprice.  You weren't offering them a choice, as I recall it.  I think the notice is simply:  Deliverability will be repriced.  Isn't that what it says?  


MR. MacEACHERON:  Could you show me that, please?  


MR. THOMPSON:  "We will deliver you a new T1 contract 

that will maintain the deliverability and storage space allocation as your existing contract –-"


MS. WONG:  Where are you reading from, Mr. Thompson?  


MR. THOMPSON:  Tab 20, the notice.  Second paragraph:  

"...but will reflect market prices for any deliverability in excess of 1.2 percent consistent with the NGEIR decision."


 MR. MACEACHERON:  Then further, the second-to-last paragraph:  

"Should you desire to increase or decrease your deliverability or storage space from the quantities in your existing contract, please let us know and we would be pleased to work with you to ensure your requirements are met."  


MR. THOMPSON:  So that is the choice, is it?  


MR. MacEACHERON:  I would suggest to you that that's choice.  Our customers have choice.  


MR. THOMPSON:  I will move on.  


The second part of paragraph 48 of the IGUA material says: 

"The NGEIR decision creating a unregulated storage services business for Union provides Union's owner with a significant incentive to claw back storage services from its existing DCQ obligated T1 customers and/or to reprice a portion of the storage services those customers currently require."  


This topic of a conflict of interest was something that Ms. Campbell touched on in her examination during the technical conference.  


Do you agree that this conflict of interest exists?  


MR. MacEACHERON:  I absolutely do not agree with the statement.  


Again, the Board at the end or conclusion of this proceeding is going to determine, it's my understanding, what is a reasonable amount of space to allocate to T1 customers.  And that's the purpose of this proceeding.  


It will be the Board that determines what is reasonable and what is not.  


MR. THOMPSON:  All right.  Well, you don't accept there is a conflict of interest?  


MR. MacEACHERON:  No, I do not accept that.  


MR. THOMPSON:  Okay.  


MR. MacEACHERON:  It certainly did not guide us in any way, shape or form. 


MR. THOMPSON:  I find that hard to believe, but I will argue that.  


Okay.  I just want to move on, then, to another topic about space allocation at the time of the NGEIR decision for DCQ obligated T1 customers.  


Am I correct, we've covered this ground quite a bit before, but for those who had contracted prior to 2000, the allocations were derived, as we've discussed before, and they were rolling over automatically from year to year; correct?

MR. MacEACHERON:  I think we have answered that question.

MR. THOMPSON:  All right.  Now, after 2000, the AE method went into effect.

I wanted you to clarify for me how that method was applied.  Let's take, for example, an existing customer, a customer that existed before 2000.  What data was used?  What inputs were used to apply the methodology?

MR. MacEACHERON:  In determining the allocation of space to that customer, pre 2000?

MR. THOMPSON:  No.  After 2000 for an existing --

MR. MacEACHERON:  After 2000?

MR. THOMPSON:  For an existing customer.

MR. MacEACHERON:  We would look at, for an existing customer -- it would be a bundled customer?

MR. THOMPSON:  Somebody that was, let's say, M7 or something moved over.

MR. MacEACHERON:  Looking to move to T1 service.  What we would do is work with the customer, sit down, describe the attributes of the T1 service.  We would likely have had several meetings with the customer at that point in time.

The customer is typically interested in T1 service because they recognize there is significant savings associated with that service as compared to the bundled service they're on.

They typically express concern about the greater level of management on that their part that would be associated with that.  We review that with them.  In determining the storage allocation, we would look at their history.  The customer would give us a forecast of the period which we're going to contract for.

And using that forecast and measured against their historical for reasonableness, we would apply the aggregate excess methodology pursuant to the settlement agreement of 2000 to allocate space to that customer.

MR. THOMPSON:  Is it fair to describe that as a negotiation in the context of historical and forecast data?

MR. MacEACHERON:  Not really, no.  I wouldn't -- I don't view it as a negotiation.

MR. THOMPSON:  Well, you end up with a contract.

MR. MacEACHERON:  Pardon me?

MR. THOMPSON:  You end up with a contract.

MR. MacEACHERON:  But you were referring to the allocation of the space in that contract.

MR. THOMPSON:  This is a contract parameter?

MR. MacEACHERON:  It is a contract parameter that is determined using the aggregate excess methodology, using a customer forecast that we check for reasonableness working with the customer, and then the aggregate excess amount is calculated.

The customer looks at that amount, determines whether or not they can -- they feel they can manage the T1 service with that, and then elect either to proceed or not proceed.  And if they proceed, that is the amount that is allocated to them.  That's how we have managed the T1 service following the settlement agreement in June 2000.

MR. THOMPSON:  Now, let's take it for a customer that didn't exist prior to 2000, for example, Brighton Beach or Coral.  How is that -- how is the AE method applied there?

MR. MacEACHERON:  It's my understanding -- I haven't got direct experience with that one, but I would expect that that customer would provide us with a forecast of their expected usage, and then we would apply the aggregate excess methodology based on that forecast.

MR. THOMPSON:  So it's either a forecast or a mix of forecast and history that is used?

MR. MacEACHERON:  Yes, yes.  Usually -- the history usually guided the reasonableness, determination of reasonableness for the forecast.

MR. THOMPSON:  Okay.

MR. MacEACHERON:  Then once it was allocated, it would be subject to the rollover provisions that we talked about earlier.

MR. THOMPSON:  All right, thank you.

Now, on the deliverability -- sorry, just before I leave that, then, let's just check the customers in the long-term contract category.  You can help me here.

This would be tab 16 of the IGUA material.  There are five customers there.

Can you tell me whether all of them were new, i.e., didn't exist prior to 2000?  I don't want you to name names, but just quantities.

MR. MacEACHERON:  I do not know if one or more of these customers existed prior to 2000.

MR. THOMPSON:  All right.  Well, we're going to move into a confidential examination at some point later, so perhaps I will come back to that, and if you could undertake to check over the lunch hour, obtain an answer to that question, I would appreciate it and we will deal with it later.  Could you do that?

MS. WONG:  We will see what we can do about finding out if they were customers before 2000.

MR. THOMPSON:  Thank you.

MS. CAMPBELL:  I would point out -- I apologize for interrupting, but at the bottom of A2, if I am correct, you are asking if any of the five customers were pre 2000.  One has the number 1 beside it, which indicates a grandfather.  So that means at least one out of the five would be pre 2000.

MR. MacEACHERON:  Yes.  I see what you are referring to, and I would agree with that.

MS. CAMPBELL:  Yes.  Perhaps I am not making myself clear, Mr. Thompson.  If you look at the very right-hand side of the page in there, the numbers 2 and 3, and then if you look, the notes on the left-hand side at the very bottom define what 1, 2 and 3 means.

The second customer, customer AT, if I track it all the way over to the right hand, has a 1 and a 3 beside it.  One tells me they were grandfathered, so they're prior to June 7th, 2000.

MR. THOMPSON:  Thanks.  I think you're telling me that the answer to my question is in the footnotes; is that right?

MR. MacEACHERON:  Yes, yes.

MR. THOMPSON:  Thanks.  My apologies.

MS. WONG:  I think that takes care of the entire undertaking, then.

MS. CAMPBELL:  I believe so.

MR. THOMPSON:  Thank you.

I would just like to turn quickly, if I could, to deliverability arrangements at the time of NGEIR for DCQ-obligated T1 customers.

This is the subject matter of your slide that we have been discussing.  You were questioned by Mr. Ryder on this a fair bit, so I will try not to dwell on this.

If you go to your slides, which is the customer presentation, Exhibit A1, I believe it is, an attachment, and you go to a description of the deliverability arrangements for DCQ-obligated T1 customers, just in terms of the purpose of the deliverability, would you agree with me that the purpose of this feature of the arrangement is to accommodate injections into storage when DCQ exceeds consumption at the plant or plants, and withdrawals from storage when consumption at the plant exceeds DCQ, subject to the requirement that a customer has to keep a positive balance in storage at all times and not exceed its space allocation?

MR. MacEACHERON:  Which slide are you referring to, Mr. Thompson?

MR. THOMPSON:  I was referring to the slide 16, but before getting there, I was trying to state the purpose of the deliverability feature of these contracts.  Want me to repeat that?

MR. MacEACHERON:  The deliverability feature, when a customer contracts for deliverability, they're contracting for a level of injection or withdrawal into our storage.

MR. THOMPSON:  Correct.  But in terms of the nature of the DCQ-obligated T1 service, the purpose of the arrangement, from both the customer's perspective and Union's perspective, is to enable amounts to be injected into storage on days when DCQ exceeds consumption at the plant, and on days when consumption at the plant exceeds DCQ, it comes out of storage.

You have had this discussion with Mr. Ryder. 

MR. MacEACHERON:  Yes, it would certainly enable that activity.  But there are other things you can do with your surplus DCQ, or to meet incremental plant requirements apart from injecting or withdrawing.  We have discussed that yesterday.  

MR. THOMPSON:  But conceptually, the objective of the service is to accommodate DCQ and consumption variances, so that at year end you are in balance, consumption and deliveries more or less, and you maintain your positive balancing storage.  Isn't that fair?  Am I missing something here?  

MR. MacEACHERON:  In concept, that is what deliverability is used for.  

MR. THOMPSON:  All right.  And so the deliverability that a particular customer might need -- it's one number in the contract.  Right?  

MR. MacEACHERON:  Correct.  

MR. THOMPSON:  And the deliverability that a particular customer might need falls within a range.  Correct?  And the range is described in this slide on page 16.  

MR. MacEACHERON:  That would characterize the minimum and maximum type of deliverability the customer might select and have typically selected.  The words there that read are:  
"And typically determined based on..."


That sort of described the range.  

MR. THOMPSON:  And I suggest that the most the customer will need is deliverability equal to CD, and that customer will need that at any time that its deliverability, is there any time that its maximum peak day consumption is more than 2X DCQ?  So very low load-factor customers will peak CD for deliverability, like Kitchener.  Because they're so low load factor.  

MR. MacEACHERON:  They might, to meet a peak day, they might.  

Their CD might be set, though, well above whatever has been the historical peak day.  A typical customer.  They might not choose to pay the demand charges associated with that to have that type of protection in place.  

They might choose to use overrun.  When we optimize bundled customers, we often look -- on the delivery side the transport side, we look at a certain level of authorized overrun or unauthorized overrun as a prudent sort of me sewer to paying demand charges throughout the year for a service you otherwise don't require every day.  

MR. THOMPSON:  I am just trying to get you to explain the range that is described in this slide.  

I am suggesting to you at the top of it, the highest number would be CD.  Do you agree?  

MR. MacEACHERON:  I agree that a customer could select CD as their highest number, if they wanted to.  

We did not limit.  We used 1.2 percent to guide us and as you can see from the numbers that we've provided, we did not limit the selection of deliverability to the 1.2 percent.  We were guided by it, but we didn't limit it. 

So a customer could select CD if they wanted to and pay the associated demand charges.  

MR. THOMPSON:  And they could select DCQ?  

MR. MacEACHERON:  They could select whatever level.  

MR. THOMPSON:  Right.  So it falls within a range.  That was the basis on which deliverability was established prior to NGEIR.  Is that fair?  

MR. MacEACHERON:  Typically customers determined their deliverability using the range that you see on that slide.  

MR. THOMPSON:  Thank you.  Now, the result of that, in terms of expressing deliverability as a proportion of space, did not equal 1.2 percent in most cases.  

MR. MacEACHERON:  No.  The schedules are clear in that regard.  We used 1.2 percent to guide, certainly, the contracting for deliverability, but we did not limit what a customer could select.  

MR. THOMPSON:  But when you use the word "standard" it implies that it's widely used.  

What I am suggesting to you is, when you look at the situation that prevailed and, in particular, I think it is A2.9 which I think you can find in our IGUA stuff.  

MR. MacEACHERON:  Where are you looking?  

MR. THOMPSON:  A2.9.  You can find it under tab 16 of IGUA's material.  The deliverability in the existing contracts expressed as a percentage of space is the sum of the two numbers shown in columns A and B.  Would you agree?  

MR. MacEACHERON:  I am trying to locate that exhibit.  I have Exhibit A2.9 now in front of me.  What was your question, Mr. Thompson?  

MR. THOMPSON:  To get the percentage -- to get deliverability that the T1 class as a whole enjoyed, we may have to come back to this in the confidential portion of the examination, you add these two numbers together and you will then have the range of deliverability in each of the customers expressed as a percentage.  

Would you take that subject to check?  

MR. MacEACHERON:  If you add the two columns, A and B on Exhibit A2.9, you will get a total deliverability percentage.  

MR. THOMPSON:  Right. 

MR. MacEACHERON:  And that is the total deliverability percentage for the customers that you see listed from 1 through to 51.  

MR. THOMPSON:  But this is what it looks like when you split them out.  But in the existing contracts they're not split out.  It's one number.


MR. MacEACHERON:  That's correct.  

MR. THOMPSON:  Okay.  And so if you want to find out the extent to which 1.2 percent prevailed in the constituency here, all you have to do is go down this list and identify the zeros.  Because every other number that doesn't have a zero in column 2, is something other than 1.2.  Right?


MR. MacEACHERON:  Correct.  

MR. THOMPSON:  Okay.  And so if you do that there is only 9 of 51 customers that have 1.2. 

So I suggest to you 1.2 percent was never a standard in this constituency, 9 out of 51 doesn't make a standard.  

MR. MacEACHERON:  What we have said is that the 1.2 percent deliverability level was used as our guide.  We did allow our T1 and T3 customers to contract for higher levels of deliverability.  We didn't limit their contracting.  When we referred to the standard, we're referring to our storage pools and what is the standard deliverability from our storage pools.  And when you take our standard pools, deliverability is 1.2 percent.  That's what the standard deliverability is from our storage pools, that's what we can physically deliver from our pools.  

MR. THOMPSON:  All right.  Now what gets allocated to these customers is not necessarily what you rely on physically to produce deliverability.  It's an allocation.  Correct?  

MR. MacEACHERON:  These -- 

MR. THOMPSON:  Existing T1 customers have varying levels of deliverability --

MR. MacEACHERON:  Correct. 

MR. THOMPSON:  -- when expressed as a percentage of space.  What you rely on to actually physically fulfil the commitment you made is another matter.  

MR. MacEACHERON:  I don't know if I totally agree with that.  

When we contract with a semi-unbundled customer for deliverability, that's a contractual right that they have to withdraw or inject into our -- into the storage that we have allocated to them.  

So they have a right at any day to inject any portion of their firm obligated DCQ, or withdraw to meet their plant requirements.  

It is very much linked to serving the -- either the DCQ, the obligated supply, or their plant requirements.  And that's a right that that customer has to access, unlike perhaps bundled customers that there is no specific entitlement to that.  

MR. THOMPSON:  And what they had at the time of the NGEIR decision was part of the monopoly service they were receiving.  It was an adjunct to the space allocation, as well as to the distribution service.  Do you agree?

MR. MacEACHERON:  Prior to the NGEIR decision, all deliverability was priced at cost.  In the NGEIR decision, the Board determined that deliverability, high deliverability service, is a service that they will not regulate, that they will forbear from regulating.

I think what we're determining here in this proceeding, it's my understanding, is:  What is that amount?

MR. THOMPSON:  All right.  Well, I won't argue it with you any further.  I think Mr. Ryder has flogged this area.

MS. CHAPLIN:  Actually, I have a question for Mr. MacEacheron, if I may, Mr. Thompson.

Looking at these, you explained how you allowed customers to contract for more than the 1.2 percent deliverability at cost-based rates.

So I am extrapolating from that or I guess I'm surmising from that that you're recognizing that they're not all going to use their maximum amount of deliverability at the same time; right?  Like, in other words, I mean, you're saying our system as a whole has 1.2 percent deliverability; therefore, each individual customer should have that, but you didn't enforce that.  So you must recognize the fact that two things must happen. 

One, are there other means you have to meet those contractual requirements other than just strict physical withdrawals; or, two, are you recognizing that customers are not going to simultaneously draw on those firm requirements, and, therefore, you have the flexibility to offer additional deliverability?

MS. PASSMORE:  I believe it's the latter, because what it is is that, yes, the customers do have this -- these deliverability rights, this gets to what we were talking to yesterday about flexibility, to a certain degree, is the customer's rights right now, it is very important is that this injection withdrawal capability is used to serve the meter.

So a customer that has the withdrawal in their contract, the only firm access they have to that is to withdraw from storage to meet the plant consumption.

So to your point, yes, not every customer would be taking it at the same amount of time.  So, therefore, there is synergies from within that.

Just as we did with the unbundled standard storage service in 2000, we are now proposing to take the semi-unbundled one step further and make it a standard storage service with a standard level of deliverability, but then, for the deliverability that they do have, they would have that firm access to use it on 365 days of the year.

So I am forfeiting that synergy.  I'm saying, You can use this, because I am going to use this for this purpose because another customer won't be using theirs.  So part of the flexibility proposal is that for any excess withdrawal -- if a customer is quite sure that they won't be burning all of their withdrawal capability tomorrow or their DCQ arriving will meet their 100 percent needs for tomorrow, they can go, have firm access ten months of the year to nominate a withdrawal out of storage.  They currently do not.

So that is why we are attempting to create a standard level of service for the T1 semi-unbundled customers, and, yes, it does mirror what we have already decided for the unbundled customers, that that allocation of storage would come with 1.2 percent deliverability standard, and then the customers can either elect to choose market-priced deliverability above that, or, as the Board found itself in the NGEIR decision, is that if customers desire more storage than allocated to them, under the standard methods they have the ability, as they do today, to purchase additional storage services at market-based rates or alternative services in the market.

And that's what we've been trying to say for two days, is that there are alternatives.  Incremental supply is the equivalent of additional withdrawal capability on the day, if a customer thinks he is going to need it.

MS. CHAPLIN:  Thank you.  

MR. KAISER:  Mr. MacEacheron, when Mr. Thompson was taking you through some those old decisions on eligibility - I guess they were 1999, 2000.  I recall 1.5 percent being the standard then.  Am I recalling that right?

MS. PASSMORE:  Yes.  I recall that, as well, that the T1 was --

MR. KAISER:  Is there some reason why you moved from 1.5 to the 1.2?

MS. PASSMORE:  I believe it has to do with the whole evolution of the marketplace, and the 1.5 is a number - I am going to start speaking, but Mr. Quigley has greater expertise - is with the -- across the system-wide average.

I think as we have reached further sophistication, the proposal is the 1.2 percent, as the unbundled product did, recognizing that now these customers have access to third party services, they're not bound to just using Union's services.

MR. KAISER:  Thank you.

MR. RUPERT:  Can I ask one, as well?  Mr. MacEacheron, this goes back to slide 16 of your presentation, which Mr. Thompson was asking you about.  It's the appendix to your original evidence.  I guess that's Exhibit A1, attachment.

This was where, on the third bullet, you were -- someone in your shop was discussing -- describing how deliverability had typically been determined.

I just had a question on the withdrawal.  I mean, I understand, I think, CD minus DCQ, but I am just trying to understand if a customer with obligated deliveries came to you and said, I want to have deliverability equal CD, would you do that in the past?

MR. MacEACHERON:  We didn't restrict the customers to the level of deliverability that they ultimately wanted.  So if the customer said, I want it to be -- I want a contract for deliverability equal to my CD, we would likely have a discussion with that customer and say, Why?  You are going to pay demand charges for a service you are not likely going to need that often, because your obligated supply coming in is going to address a good portion of what your CD requirements are.

So you would be significantly over-contracting.  So that would be something we would discuss with the customer, and the customer would -- I would think, would probably take that into a great deal of consideration.

I would think that it would likely not contract for that level, because the supply is obligated.  And particularly in the wintertime, that supply, it's difficult to get authorization to suspend the obligated supply in the wintertime, particularly at Parkway, where it is needed to underpin our east-end obligations and our system integrity.

MR. RUPERT:  So I am just wondering, was this something that -- this says typically determined.  There were cases, in fact, where in the past customers would be able to contract for a deliverability equal to CD, even when they were obligated?  It wasn't just something that you talked about.  People actually did it.  You actually allowed it?

MR. MacEACHERON:  I am not aware of whether or not we have actually contracted for that level of deliverability equal to a customer's CD.

I would certainly look and see for you, if you would like, but I am not aware if we have specifically done that.

Again, the demand charges are fairly high for the deliverability service and customers would typically not do that.

MR. RUPERT:  The reason I ask, and this may come up later as Mr. Thompson proceeds, or others, but the one -- I have forgotten the schedule now, but the one we just looked at which had the two columns, 1.2 percent at cost, and then the balance at market, there are some on there that have substantial amounts of deliverability, and so I was just wondering if those, you know, were companies or are companies that would have been allowed to contract for deliverability equal to CD, because as a percentage of their space some of them are quite high.  That is why I asked the question.

MR. MacEACHERON:  Yes.

MS. PASSMORE:  I think you are going to -- there's two dynamics happening there.  And as much of this has been the last two days, we're talking about a 20-year history of a service and an evolution of a service.

And I believe that the CD parameter has long since had its day, and that would go back to actually the very early days of direct purchase where we had quite a bit more discussion about reliability of supply.  We don't have those discussions anymore with the liquidity of the Dawn marketplace and all of the market participants, but I believe that is really where that number was used.

Then you go back to that table where you are asking yourself, Are these percentages reflecting CD?

I would say they're more apt to represent actually quite a small T1 customer who, through the aggregate excess methodology, possibly did get actually a fairly small amount of space, so any deliverability that he does have appears as a larger percentage of that space.

MR. RUPERT:  Thank you.

MS. WONG:  Mr. Chair, if I might be of assistance, you had mentioned seeing something in the evidence about 1.5 and you thought perhaps it was from 2000.

I think the reference you may be thinking of is IGUA tab 14, which is some evidence from 1986.  It's page 10 of tab 14.

MR. KAISER:  Thank you.

MR. THOMPSON:  In terms of the T1 rate class, the T1 rate is a class rate, is it?

MR. MacEACHERON:  The T1 service is a rate class.

MR. THOMPSON:  Yes.  And so the costs for the various unit -- the unit charges in the various -- in the rates are derived from costs allocated to class as a whole?  

MS. PASSMORE:  Yes.  Yes, they are.  

MR. THOMPSON:  And the class, coming to Ms. Chaplin's point, there is diversity in the class?  And you were talking about that, as I understood you, Ms. Passmore, that the diversity of the class can result in different allocations of deliverability to members of the class, but still each of them getting the service that's being provided.  

MS. PASSMORE:  Well, the actual -- from my understanding, and I won't take it any further than this comment, is that the cost allocation study for T1 actually reflects the contracted parameters of the T1 companies that are within that class.  For any further questions under cost allocation, I believe we would need to take the questions.  

MR. THOMPSON:  All right.  What you were describing to Ms. Chaplin, I suggest, isn't describing the existing situation.  It's describing essentially a new situation where you have moved further to unbundling.  

MS. PASSMORE:  I was describing what our proposal proposes, that is correct.  

MR. THOMPSON:  Right.  And that is a further move to unbundling.  

MS. PASSMORE:  It is a further evolution of the T1 service.  

MR. THOMPSON:  But if we want to maintain what we have today as we see it, what we have today you are basically eliminating.  You are defining a new service -- 

MR. MacEACHERON:  I would say our customers are taking us there, as well.  

We're seeing, this evolution is something that's also being created and pushed by our customers.  We're seeing a greater demand today to use their deliverability that they have surplus to inject incremental supplies that they're bringing in and asking for authorization to do that.  And we're not able to.  That deliverability is, as we explained, tied to serving the obligated DCQ, not serving incremental supply.  But with our flexibility proposal, they can now do just what they have been trying to do for the last couple of years.  

I receive regularly, on a regular basis, requests for transactional activity today that, you know, really reflect an evolution of the sophistication of these customers and their marketers for that matter in using the service, wanting to do things, wanting to access the market, wanting to bring in incremental.  Wanting to shed supply.  

MR. THOMPSON:  Mr. MacEacheron, we've got IGUA sitting here resisting your proposal.  We have APPrO resisting your proposal.  You have the City of Kitchener resisting your proposals.  How could you possibly say the customers are taking you to this new proposition?  They're not taking you there at all.  They are resisting it.  

MR. MacEACHERON:  I submit that your members and Kitchener and APPrO have all made requests for incremental deliveries throughout the year.  And have expressed frustration when we cannot accommodate them and they point to their deliverability parameters and say:  Why not?  And we say it is tied to your obligated DCQ and we can't accommodate it.  

And I would suggest those same people are also -- those same customers are also seeking similar type services to withdraw gas.  

So they are behind that movement.  We shouldn't confuse it with wanting to retain space above and beyond what might ultimately be decided in this proceeding.  

MR. THOMPSON:  Well, I am not confusing it I don't think but we will hear from the customers.  

I want to -- do you plan to sit to 12:30, Mr. Chair?  

MR. KAISER:  Whatever your convenience is, Mr. Thompson.  

MR. THOMPSON:  I will try to deal with some impact information before the break, if I might.  

We discussed some of this earlier this morning, Mr. MacEacheron, or whoever it is that is responsible for this.  

In terms of impacts, if you could look at paragraphs 53 and following of the IGUA material, we talk about how much space will be clawed back under your proposals based on the information that is in the record.  

Paragraph 53, I refer to -- or we refer to Exhibit A2.10 which we discussed earlier this morning, Mr. MacEacheron.  Will you take that subject to check?  This is where we refer to tab 16 and we saw you were clawing back about 2.9 million gJs or 61 percent of the space allocated to grandfathered.  Do you recall that discussion earlier?  

MR. MacEACHERON:  I recall discussing Exhibit A2.10, and I also recall not sharing your view of the clawback terminology.  What we have done, again is allocated space pursuant -- and what this shows is, what the customers currently have in contract versus what aggregate excess would give them based on one year of historical activity.  

Our proposal, again, is two years and one year forecast, but taking that ultimately what you're referring to here is a reduction in storage as a result of a reasonable allocation that the Board will determine.  

MR. THOMPSON:  I will use your word "reduction" so we can move on.  

And did I understand you to say, in-chief, that's 11 customers are going to get impacted with that proposal?  And we can canvas this further in camera.  But that was my understanding of what you said in-chief.  

MS. PASSMORE:  In-chief.  And as you can see on the fourth column here, that we did believe that there would be ten customers of the grandfathered -- currently "grandfathered customers" that would elect the 10X obligated DCQ proposal.  

MR. THOMPSON:  Because they have no other choice, right?  It is either that or zero. 

MS. PASSMORE:  That is our proposal.  They will end up electing whatever the Board determines is appropriate, Mr. Thompson.  

MR. THOMPSON:  Okay.  Sorry.  That was in A16, was it?  Or tab 16. 

MS. PASSMORE:  A2.10.  

MR. THOMPSON:  Okay, right.  

Then in the other category -- I am unclear as to how many would be affected in the -- well, just explain, under lines 2 and 3, you've got 11 in line 2 and 11 in line 3, for a total of 22.  But is everybody being affected in the class?  Or just 11?  In the grandfathered subclass. 

MR. MacEACHERON:  The 11 refers to 11 customers.  What this table attempts to do is, of the grandfathered group of customers, the first group lines 1, 2 and 3 -- well, 1 and 2, lines 1 and 2, there are 11 customers that we think would elect the aggregate excess space as their methodology in the grandfathered group of customers and there are 11 customers that would select, in our view, the 10X obligated DCQ methodology, based on our assumption that the customer would select the amount of space that was the highest, that gave them the highest amount of storage.  

MR. THOMPSON:  So in combination, then, they're both losing?  Aggregate excess group is losing.  And those that have to go 10X DCQ, instead of going down to a lower number, they would end up at 703,000.  Is that right?  

MR. MacEACHERON:  There are -- when you turn to Exhibit A2.1, I can see a couple of grandfathered customers in there that will actually receive more space when you look at the historical number.  

So I expect that embedded in the numbers in A2.10 are a couple of grandfathered customers that actually will benefit from the aggregate excess.  But to say they all are going to see a reduction I don't think is correct.


MR. THOMPSON:  No, but I think what you're saying to me is, if I go down the variance column in A2.1, every number that's positive is going to be affected by your proposal.


MR. MacEACHERON:  Yes.  Now, again, the column B there, I do caution that that is based on one year of historical activity.


MR. THOMPSON:  You said that several times.


MR. MacEACHERON:  Yes.


MR. THOMPSON:  Let's assume this is a three-year picture.


MR. MacEACHERON:  I don't think that that would be an accurate assumption.  I do think the customer's forecast -- where you see the zeros there, there may be a forecast that comes into play that will dampen an anomaly that has caused that one year of history to give a very low allocation.


MR. THOMPSON:  We will come back to this and see the detail on the confidential documents.


But just in the second category, non-grandfathered, there is 16 -- well, explain the 16 and 7 to us, please, customers in the third column.


MR. MacEACHERON:  Exhibit A2.10?


MR. THOMPSON:  A2.10, correct.


MR. MacEACHERON:  Of the non-grandfathered customers, we believe that 16 of those customers would likely select the aggregate excess methodology at contract renewal, and we expect seven might elect the 10X methodology, the proposed 10X methodology at contract renewal.


MR. THOMPSON:  All right.  So everybody is up for refreshing, I guess, as you say?


MR. MacEACHERON:  That's our proposal.


MR. THOMPSON:  Right.  Okay.


Now, just in terms of what is the reductions that become excess and that Union will have an ability to sell, we have a description in our material at paragraphs 58 and following of the financial impacts of this.  What we did was ask the question:   How much would it cost the people who are being adversely affected to buy from Union what they have today?


We used the short-term storage rate that Ms. Elliott quoted to us at tab 21.  That was sworn evidence before this Board on July 2007, and it was at the end of the examination.  You will find it at page 85 under that tab, where Ms. Elliott told us that the average price for short-term storage in 2006 was $2.86.


Do you see that?


MR. MacEACHERON:  Where are you?


MR. THOMPSON:  Page 85 of tab 21 at line 26.


MR. MacEACHERON:  Page 85?


MR. THOMPSON:  Will you take that number, subject to check?


MR. MacEACHERON:  I see that at line 26.


MR. THOMPSON:  Do you not know what short-term storage goes for in your shop?  I mean, is this a big secret?


MR. MacEACHERON:  Absolutely not.  We have explained in the past how the short-term storage price is determined.  It is determined on a market price.


I can guarantee you one thing, Mr. Thompson, that if I looked at the screens this morning before this proceeding, and I looked at the screens this afternoon after this proceeding, I probably would see two different valuations for short-term storage.


MR. THOMPSON:  I'm not suggesting you wouldn't.  I am just asking you to confirm that the average price realized by Union in 2006 for short-term storage was $2.86 per gJ.


MR. MacEACHERON:  Yes.


MS. PASSMORE:  That's our understanding, yes, that's correct.


MR. THOMPSON:  All right.  Now, we asked you this question during the course of the technical conference and you wouldn't answer it, so we have to use our own data to try and come up with, What's this stuff worth?


So what we looked at for 2007 was your third quarter interim report, and you will find that at tab 22.  And if you go over to page 3 of this, you will see that your earnings for the nine months ended September 30, 2007, Union's earnings, $113 million, up from $66 million in the previous nine-month period.


If you go over to page 5, under the three months ended September 30, you will see a statement:  

"Favourable storage market conditions continue to drive higher storage revenues."

Do you see that?


MR. MacEACHERON:  Where is that?  Whereabouts are you, Mr. Thompson, on that page 5?


MR. THOMPSON:  In the three months ended September 30, the third sentence.  This is explaining earnings increases in the quarter:

"Favourable storage market conditions continue to drive higher storage revenues."


That's what it says?


MR. MacEACHERON:  That's what it says.


MR. THOMPSON:  Okay.  So my question is:  What is the average short-term price for storage for the period ending in 2007 for the period ending September 30?  It strikes me it is probably higher than 2.86, but I may be wrong.


Can you answer that question?


MS. PASSMORE:  I can't answer that question, but in an attempt to try to --


MR. THOMPSON:  Why can't you answer that question?  It must be part of the third quarter interim report.


MS. PASSMORE:  I don't know what the answer is, Mr. Thompson.


MR. THOMPSON:  Sorry?


MS. PASSMORE:  I do not know what the answer is, Mr. Thompson.


MR. THOMPSON:  Will you undertake to get that answer, since -- well, you're disputing --


MS. PASSMORE:  No, we're not.


MR. THOMPSON:  -- these numbers in your reply evidence.


MS. WONG:  I think we accept the 2.86 was the number in 19 -- in 2006.


MR. THOMPSON:  That's 2006.  I'm trying to get the 2007.


MS. WONG:  My question, Mr. Thompson, is:  Why is this relevant to the issues before this Board?


MR. THOMPSON:  Because it provides an estimate of the measure of the impact of your proposal on T1 customers as a whole, individual T1 customers and on the owner.


MS. PASSMORE:  But I believe, as Mr. MacEacheron has said several times, it's the Board that is going to determine what the reasonable amount of storage for these customers is, Mr. Thompson.  So their decision to purchase any additional services over and above that, I, too, am asking I'm not quite sure why we are speaking about that here.


MR. KAISER:  Ms. Wong, you must have this information.  It should be readily available.  Mr. Thompson is just trying to determine, whatever we may make of his argument, the financial impact of the company's proposal.  Can't you provide the average price to the period ending September 30th?


MS. WONG:  We can look into whether or not we can get the average price for the year -- for the nine months of 2007.


MR. KAISER:  That's what he asked for.


MR. RUPERT:  Could we also be clear, because this term "short term" is used to cover a variety of things.


I assume, Mr. Thompson, you are interested in the market price of storage for an entire year or season.  You're not interested in a two-year contract or a three-month contract or a six-month contract, all of which presumably could be different.  What exactly are you interested in?


MR. THOMPSON:  Well, I am trying to get a reasonable measure.


If there is a long-term price, as well as a short-term price, I would be happy to have that as --


MR. RUPERT:  You're trying to do the impact.  I assume, maybe wrongly, that you would be interested in the market price for a storage space that would be equivalent to the one-year term of the contract that your clients have.  Is that a fair --


MR. THOMPSON:  That is what I thought was short term, I suppose.


MR. RUPERT:  Well, I say that only because short term is used, as you I am sure you well know, in the NGEIR decision to cover transactions as long as two years as it relates to sharing of premiums, so I just want to be clear.  One year.


MR. KAISER:  What was the 2.86?  Was that a one-year contract, or do we know?


MR. THOMPSON:  I don't know.  The phrase used was short-term storage, so perhaps that should be clarified.


MR. KAISER:  Whatever is comparable to the 2.86 is what you're looking for for 2007?


MS. WONG:  My understanding is that the 2.86 was a one-year number, as well.


MR. KAISER:  Let's go on that basis.


MR. THOMPSON:  Yes.  Thank you very much.  Would this be a convenient time to break, Mr. Kaiser?


MR. SCHUCH:  Before we break, perhaps we should assign an undertaking number to this.


MR. KAISER:  Yes.


MR. SCHUCH:  That would be HDU2.1, and that is to provide the short-term storage price for the first nine months of 2007.  Is that --


MS. WONG:  That would be the average.


MR. KAISER:  Average.

UNDERTAKING NO. HDU2.1:  TO PROVIDE AVERAGE SHORT-TERM STORAGE PRICE FOR FIRST NINE MONTHS OF 2007.


MR. RUPERT:  This will be a quick five-second question, if it might, but I have to ask it now, Mr. MacEacheron, because if I leave this, I will forget.


Exhibit A2.1, which is your -- your undertakings, it is filed in several places.  It has this, what is to me a mysterious customer, customer AR who manages to neither have contracted or aggregate excess space.  I just have to ask about a customer that has no space.  Do you see the customer I am referring to?  

MR. MacEACHERON:  Yes, I do. 

MR. RUPERT:  If it is a longer answer maybe you could let me know after lunch, but I ...

MR. MacEACHERON:  I believe that is a customer who elected -- I would like to check this for you, but it's my understanding it is a customer who elected T1 service but didn't receive an allocation of storage because aggregate excess didn't work for them but elected the service anyways and purchased storage services from Union at market.  

MR. RUPERT:  A model customer, I take it?  

Thank you.  

MR. KAISER:  Thank you.  We will come back in an hour.  

--- Luncheon recess taken at 12:30 p.m.  

--- On resuming at 1:35 p.m.


MR. KAISER:  Please be seated.


Mr. Thompson.


MR. THOMPSON:  Thank you, Mr. Chairman.


Panel, when we broke for lunch, we were discussing customer impacts, and I just want to touch on a few more topic areas in this --


MS. WONG:  Excuse me, Mr. Thompson.  Just before we move on, Mr. Chair, I think Mr. MacEacheron can respond to Mr. Rupert's question about the mysterious customer.  We were able to get some information.


MR. RUPERT:  Oh, thank you.


MR. KAISER:  Thank you.


MR. MacEACHERON:  Mr. Rupert it was, as I indicated, customer AR on schedule 2.1 that you referred to, A2.1, customer AR, which shows zero space under "contract" and zero storage allocated to it using historical data, August 2005 to July 2006, is in fact a customer who elected T-service and aggregate excess did not work for them and did not provide them with sufficient space, and elected T-service nevertheless, choosing to contract for storage at market from Union.


MR. RUPERT:  Okay, thanks.


MR. THOMPSON:  Back on the subject of customer impacts, if I might, panel.


Now, in terms of the change of the AE method that you are proposing and the frequency of change, the annual refresher proposition, do you agree that this is likely going to affect the interconnecting arrangements that customers have with respect to gas supply and upstream transportation, if they still hold that?


MS. PASSMORE:  I don't know how this would change that any more than when a customer reforecasts and changes obligated DCQ, which currently happens on an annual basis, if that's what the customer's forecast indicates.


MR. THOMPSON:  Sorry, every customer changes its DCQ?


MS. PASSMORE:  No, I did not say that.  I said I do not know how that is any different than when a customer changes his obligated DCQ based on a change in his forecast.  That would therefore change his gas supply arrangements and his upstream transportation arrangements, and customers currently do do that.  That has nothing to do with the rollover or the change of a 5 percent change in CD.


MR. THOMPSON:  No, but they're not forced to do that, are they?


MS. PASSMORE:  No.  Customers elect to do that.


MR. THOMPSON:  Fine.  Okay.  But what you have in mind here will force some changes and will force some changes in related arrangements, I think.  Do you agree with that?


MS. PASSMORE:  I'm saying yes, in the same manner that a change in a DCQ, which happens frequently, does drive those type of changes.


MR. THOMPSON:  You consider that and just dismiss that as non-consequential?


MS. PASSMORE:  We didn't determine it to be consequential or not consequential.  We are very aware that customers look at refreshed contract parameters.


MR. THOMPSON:  Now, in terms of the space impacts, we know that there is going to be less space if your proposals are accepted compared to the status quo, and we know your more unbundling-type measures that you have discussed at some length.  And it's fair to say this is going to have some financial impact?  It's going to cost more?


MS. PASSMORE:  I can't --


MR. MacEACHERON:  Is that with -- what is your question?


MR. THOMPSON:  With less space and the move to more unbundling that you are proposing for the DCQ T1 obligated customers, I am suggesting to you the implication of that is going to cost these people more compared to what it is costing them now and the service they're getting.


MS. PASSMORE:  I don't think you can necessarily make that assumption.


MR. THOMPSON:  You can't make that assumption?


MS. PASSMORE:  We went through the example yesterday where it showed a customer electing to choose a lower level of contract demand -- or demand charge on his deliverability and using the ability to bring in incremental supply, that, in effect, that illustration showed that day's storage deliverability-related costs would be in fact half that they would be under the current proposal.  So I don't think that is a blanket assumption you could make.


MR. THOMPSON:  So you consider that and dismiss that as having any material impact; is that what you're telling us?


Everything we raise, it is dismissed out of hand by Union.


MS. PASSMORE:  I'm saying that we thought through this proposal --


MR. MacEACHERON:  Yes.


MS. PASSMORE:  -- and believe we have built in the flexibility for the customers to work with.


MR. MacEACHERON:  I would add to what Libby has said, with the flexibility that we have incorporated in this proposal, a T1 customer now on a firm basis can acquire incremental supply in December or in September, when prices typically are a little bit more volatile and perhaps falling, as customers are scrambling to get gas into storage for the peak storage season.  


They can now, with their firm deliverability that we're proposing, acquire that incremental supply if they've got space in their storage, and bring it in and save, I think, significant dollars.


This is a type of activity that we're seeing and being requested today to accommodate.


MR. THOMPSON:  Take 61 percent of their space, and then you give them flexibility to use space.  That's the proposition?


MR. MacEACHERON:  The proposition is to allocate storage based on what the customer reasonably needs to balance their obligated supply versus their end-use consumption.


What is outside of that is if there's surplus space that's allocated today that's above and beyond that, that's...


MR. THOMPSON:  We're replowing the same ground, Mr. MacEacheron.


MR. MacEACHERON:  Yes.


MR. THOMPSON:  In terms of the deliverability impacts, again, less for the customers means higher costs for the customers; is that fair?


MS. PASSMORE:  That was again the example we went through yesterday, Mr. Thompson, where the example of the customers' uses of flexibility in that example showed that day's deliverability related costs less.


MR. THOMPSON:  So there is nothing to that proposition?


MS. PASSMORE:  There is just not an assumption you can make, Mr. Thompson.


MR. THOMPSON:  I see, all right.


Now, do you agree that every time you can push somebody in and out of storage, you make money?  This goes to the flexibility, you say, that Mr. Moran took you through that most of it has to be done with your consent, and certainly, today, T1 DCQ obligated customers can't do anything without your consent; right?


MS. PASSMORE:  For --


MR. THOMPSON:  Whenever you exercise authorizations that either -- or don't, that pushes people into storage or out of storage, or has a transaction at the market end where they have to take something out of storage, that's money for Union Gas; right?


MS. PASSMORE:  But that's customers asking for additional services than what they have contracted for, Mr. Thompson.


So when Union is able to authorize those interruptible incremental services to what the customer originally entered into his contract for, the customer does pay the associated rates.


MR. THOMPSON:  All right.


MR. MacEACHERON:  And adding to that, if I could, the flexibility proposal again no longer requires -- under our proposal, the customer is no longer required to ask for authorization to bring in incremental gas if they have injection parameters available to accommodate it.  


They just simply nominate it, the same way any ex-franchise customer using a storage service that Union would do.  So they nominate that service.


The authorization is eliminated in that case, and, likewise, with the -- with the withdrawal of gas in the wintertime.  If a customer would like to withdraw using surplus withdrawal parameters to the market, to the ex-franchise market, they can do so now through a nomination, not through authorization notice.


So we think that that's a move in the direction that our customers would like to go.


MR. THOMPSON:  Why do you think so many customers are resisting your proposals?  Are they just stupid?  They don't get it?


MR. MacEACHERON:  You're asking me why a customer would like to keep more storage than they have today than what they might reasonably be allocated in the future, which would be less?


MR. THOMPSON:  Why do you think they're resisting your proposals?


MR. MacEACHERON:  Because I think some customers are going to see a reduction in storage because the allocation they have is significantly above what would be allocated to them using an aggregate excess methodology or ten times.


MR. THOMPSON:  Turning to the owner impacts, we mentioned this in paragraph 62 of our material, where we referenced the 3.441 pJs of space and that number comes from the two numbers in Exhibit A2.10 that we have been discussing.  The 2,937,539 gJs reduction for grandfathered and the 504,342 reduction for non-grandfathered.  

Would you take it subject to check that those two amounts total 3.441 pJs? 

MS. PASSMORE:  Yes, we will take that subject to check. 

MR. THOMPSON:  Then the other number we referenced in there, the 2.1 pJs came from, again, the same tab 16, but A2.1, which is a reference to the number of 2,087,582 gJs that you are showing in this document, and I appreciate this is illustrative, would be the excess allocation to the long-term contract customers.  

And this statement in paragraph 62 assumes that as those contracts expire, you are going to reduce the amounts allocated to those customers.  

Is that assumption correct?  

MR. MacEACHERON:  Again it's based on -- 

MR. THOMPSON:  Is the assumption correct?  

MR. MacEACHERON:  And your assumption is based on an allocation of space using historical consumption over a one-year period, not based on our forecast. 

MR. THOMPSON:  I understand that.  Is the assumption correct that these customers will have their allocations reduced? 

MR. MacEACHERON:  Yes.  Subject to what I just said there, using the methodology that was in that table.  But at renewal for these long-term contracts, there is quite a bit of time to go and the situation could change significantly, then.  

MR. THOMPSON:  All right.  So the assumption is correct.  The numbers may change?  

MR. MacEACHERON:  Absolutely.  

MR. THOMPSON:  Thank you.  

MR. RUPERT:  Mr. Thompson, can I make sure I'm following the numbers so I can follow the concept. 

Your number of 2.1 pJs in paragraph 62 of IGUA's evidence -- 

MR. THOMPSON:  Right. 

MR. RUPERT:  -- I'm not sure I see where that number comes from.  

MR. THOMPSON:  Sorry.  I think I have the wrong one.  

I took the one -- it should actually be 3.1.  

MR. RUPERT:  Being column -- 

MR. THOMPSON:  I took column B as the end state.  Sorry, as the reduction amount. 

MR. RUPERT:  I understand now what you're doing. 

MR. THOMPSON:  It is actually 3.1, Mr. MacEacheron.  

The variance on the long-term is the -- 

MR. MacEACHERON:  And the issue I have with that number is, if you look at column B for those long-term contracts, two of them have zero right now in those columns.  And we fully expect that when those plants are operational pursuant to the forecast that was used to allocate the storage, that you will, in fact, see storage in that column, space in that column, and that will not be there for a net result in a reduction for that category.  

MR. THOMPSON:  Well, isn't customer AV operational at the moment?  That's Coral.  Brighton Beach, is it not up and running?  

MR. MacEACHERON:  I don't know the status of that facility.  

MR. THOMPSON:  All right.  Anyway, the concept we understand.  The numbers may change.  

And the amounts you are going to give me on the short-term premiums will help us with quantifying impacts.  

Now, just in terms of premiums and I wanted to understand if all of the reduced space is sold short term one year, just refresh my memory, who gets the premium and how much of it do they get?  

MS. PASSMORE:  My understanding is, is that the first thing Union needs to do is, we need to achieve $12 million in revenue from short term services that have already been built into rates.  So we first have to achieve a $12 million threshold in order to be held whole within rates.  

After that number is achieved, the split works out to be I believe it is 79 percent for the -- 79 percent for the ratepayer and 21 percent for the shareholder.  

MR. THOMPSON:  Where does the 12 million threshold come from?  Is that something from the NGEIR?  

MS. PASSMORE:  That has been built into our rates, into the 2007 test case rates, I believe, under the incentive regulation.  

MR. THOMPSON:  All right.  Well, I can check that.  

And what happens if it's more than two years?  If you sell this excess for a term more than two years, where does it go?  

MS. PASSMORE:  In 2008 and beyond, it is 100 percent for the shareholder.  

MR. THOMPSON:  All right.  And what happens if it is sold to the entirely to the ex-franchise market?  

MS. PASSMORE:  The answer is the same.  

MR. THOMPSON:  Okay.  

MS. PASSMORE:  But also recognizing that long-term prices are not reflective of any of the numbers that you have been using as indicative short-term prices. 

MR. THOMPSON:  I understand.  Premiums may change but I was trying to find out -- 

MR. MacEACHERON:  Significantly though.  

MR. THOMPSON:  Well, at the time of the NGEIR decision long-term was about a dollar per gJ, I think.  

MR. MacEACHERON:  That's significant relative to your 2.56 number.  

MR. THOMPSON:  I'm not so sure it is, but in any event you can tell us what that number is, if you wish.  

Okay.  So are those all of the sharing, the premium sharing scenarios that could possibly prevail?  

MS. PASSMORE:  That's my understanding.  

MR. THOMPSON:  Thank you.  

Okay.  Now, just in terms of some operational impacts, and you have been through this with Mr. Moran to some extent, with DCQ obligated and to a greater extent with the non-obligated customers, and you have been through it with Mr. Ryder.  

Paragraph 60 of our material, we say that the IGUA members understand that to avoid penalties, they will need to devote greater resources to the overall management of their gas supplies and deliveries than they do now.  That they will need to buy and sell gas more frequently to stay within the limits of significantly reduced space allocations and that they will pay substantially more than they now pay to maintain the level of service to which they are currently contractually entitled.  

Do the witnesses agree with that statement?  

MR. MacEACHERON:  I don't agree with it, particularly -- I do agree that a reasonable allocation of space will result in hands-on management by the customer.  I do agree with that.  

To the extent a customer has an over-allocation of space, then you can take a hands-off approach and for that customer, if their space is reduced to what the Board determines to be reasonable, then it's likely they will have to spend more time managing it.


The last part of your sentence, though, I do disagree with.  They will pay substantially more than they pay now to maintain the level of service which they are currently contractually entitled.  I don't, for one minute, expect that if a customer is having their space reduced, that the next day -- through a decision of this Board as to what is reasonable -- that the next day, they're going to be calling asking for market-based storage to replace it.  I don't expect that for one minute.  

MR. THOMPSON:  Calling you for market-based storage?  

MR. MacEACHERON:  Or to anyone.  To anyone in the market for storage.  

MR. THOMPSON:  I see.  Meaning, what?  

MR. MacEACHERON:  Meaning, I think at the end of the day what will be determined is a reasonable allocation of space to customers for balancing their needs and if they have needs above and beyond that, that's a market need and they will have a business justification for it.  And that will drive itself.  

But the use of cost-based storage for that, not related to the balancing of their obligated supply and their end use consumption is not appropriate.  

MR. THOMPSON:  So you're expecting calls or you are not expecting calls?  

MR. MacEACHERON:  I am not expecting calls.  You know...

MR. THOMPSON:  Okay.  Now, just on this flexibility point you have been repeating this for a number of times in my examination, probably in direct correlation to the number of times I have asked the same question.


But, in any event, just taking the current situation, December 2007, I understand there is an IGUA member that's been asking for some flexibility and that it's slow in coming.  Are you familiar with the situation I am discussing?


MR. MacEACHERON:  I think I am familiar with the situation that you are talking about.


MR. THOMPSON:  Well, maybe we should discuss it in camera, then.


MR. MacEACHERON:  I would welcome the opportunity.


MR. THOMPSON:  I am sure you would.


Okay.  Let's move, then, to your criticism of IGUA's I guess response to your proposals.  This starts at page 20 of our material and really takes us over to 25.


And the bottom line here -- well, I guess there are a number of them.  Let me just try and set the stage for this examination with this.


In terms of the changes to the average and excess method that you are proposing, IGUA's position is that is going to destabilize the situation and that retaining the rollover rule is to be preferred.


So we move on from there to the alternative space allocation that you are proposing, and here there are some sanctity of contract situations.  But I think we recognize there is a possibility there's going to be some alterations here.  


The bottom line from the IGUA position is that what is needed is some sort of stable, predictable, reasonable coverage for the perspective and I use the word "normalized" plant operations.


So it becomes a question of:  How do you set a benchmark for measuring what is fair?  And our benchmark is to look at the load factor of the T1 class as a whole, and we understand it's 80 percent.  Can someone confirm that for me?


MS. PASSMORE:  We have confirmed that.


MR. MacEACHERON:  We have confirmed that.  It is 80 percent, approximately.


MR. THOMPSON:  Okay.  And then what we do to develop a benchmark is to look at that load factor and to consider, as a fairness proposition, that customers, process load customers who have all of their down time in the summer, shouldn't be any worse off than those that have down time in the winter.


Now, is that an unreasonable approach, conceptually, in your view?


MS. PASSMORE:  Conceptually, customers who would have down time in the summer would end up having a fairly high aggregate excess calculation, if their consumption in the winter exceeded their average daily consumption for the year.


MR. THOMPSON:  Right.  And if they're both process loads, then we're suggesting they really should get the same thing conceptually, in terms of the space allocation.  Do you agree or disagree?


MR. MacEACHERON:  The same thing as an aggregate excess customer?


MR. THOMPSON:  No, I'm saying you could envisage a process load that might be down a month at a time or weekends at a time, and I am just asking the question.  You don't have to agree with me but I am asking the question:  Our working fairness assumption is that where that occurs in the winter and the result is zero under A and E, where it occurs in the summer, it produces an A and E allocation, we could use the summer approach as a guide to develop a benchmark for what is reasonable for these customers.


And you accept that as a reasonable approach?


MS. PASSMORE:  I do not accept that as a reasonable approach.


MR. THOMPSON:  All right.  Now, in terms of, then, the illustration, we have this at page 22 of our material and you criticize this in your reply evidence on the basis that we shouldn't be using the full CD as a measure of daily consumption at the plant.  Isn't that what you say in your material?


MS. PASSMORE:  We indicate in our reply evidence that maximum CD is not actually the AE methodology for calculating space.


MR. THOMPSON:  But load factor is calculated using maximum CD; right?


MS. PASSMORE:  The DCQ -- that is correct.  Load factor is calculated using CD.


MR. THOMPSON:  So an 80 percent load factor customer in T1 or an 80 percent class load factor is derived from multiplying the contract demands for the customer class times 365, and expressing annual usage over that number; right?


MS. PASSMORE:  I think I heard them right.


MR. MacEACHERON:  I'm not quite sure I followed that formula, but are you asking for what the -- are you asking us to confirm what the formula is for load factor?


MR. THOMPSON:  Well, sure, if I didn't express it properly.  I thought it was CD, maximum daily CD, times 365, that's the denominator.  The numerator is annual usage.  Am I right?


MS. PASSMORE:  Yes, that's correct.


MR. THOMPSON:  You guys do this every now and again, do you, these load factor calculations?


MR. MacEACHERON:  It doesn't come into play a lot, to be honest.


MR. THOMPSON:  Okay.  And so we're suggesting that for deriving a benchmark, whether you assume that the customer takes its max CD for 80 percent of the year and nothing for 20, or whether you assume that the customer takes 90 percent of his CD, you know, something less than max, for a longer period of time, contractually, the customer can take his maximum CD.


So in terms of developing a benchmark for what's appropriate, we suggest it's appropriate to use the contractual maximum parameters.  This is what could happen.  And you folks seem to say, No, no, no, that's not fair.


And I don't understand why.


MR. MacEACHERON:  Well, I think, if I followed your evidence, you then concluded that that would result in a 38X DCQ multiple.


MR. THOMPSON:  Right.


MR. MacEACHERON:  And we showed yesterday in our reply evidence a graph, and perhaps we could visit that graph.


MR. THOMPSON:  We will visit that in the in camera, because you've got graphs for individual customers, as well.


MS. PASSMORE:  But this is a graph of the 80 percent load factor customer you're speaking of.


MR. MacEACHERON:  If you would turn to page 19 in Exhibit R1.  Page 19 in Exhibit R1 shows as figure 3 an actual consumption, based on actual consumption of an 80 percent load factor customer, the storage balance that would be calculated for that customer.  And just from a perspective point of view, you can see above it, way above it, the 38X DCQ line that you're inferring is a fair allocation for this customer.


As you can see, this customer's storage balance over three years, projected balance, never gets close to that limit on storage.  

MR. THOMPSON:  We know that -- 

MR. MacEACHERON:  It is simply not an effective, efficient use of storage.  

MR. THOMPSON:  You're missing my point -- our point.  

If you do your graph for the summer months you have a process load where all of the down time occurs in the summer months, and none in the winter, you're going to get quite a different presentation than what you've got in your graph where it is taking place throughout the year.  Similarly, when you do your graph with all of the down time in the winter months, you're going to get a different result than what is showing on your graph where it is occurring throughout the year.  

If you take our assumption as reasonable, that the summer example is an appropriate benchmark, the multiple is 37.75.  That's the mathematical -- 

MR. RUPERT:  Mr. Thompson, can I just make sure.  I know you are talking about this at least in the context of your proposal.  

But are you also saying that for the aggregate excess method, that that method ought to be assuming, what?  Full CD in the winter?  I mean, are you suggesting this is only applicable to -- the CD point you're making, is it applicable only to your proposal?  Or is it something you're also suggesting ought to be incorporated in the aggregate excess method?  

MR. THOMPSON:  I think we're confining it to the alternate. 

MR. RUPERT:  Okay.  

MR. THOMPSON:  So our proposal is, where AE works, then those contracts would continue to rollover, so that the rollover cuts both ways.  I think we say that in -- 

MR. RUPERT:  I wanted to check because I wasn't aware that load factor played any role at all in the aggregate excess method.  So I just want to make sure this was a completely new concept.  

Like none of the CD or load factor material here is built in any way on the aggregate excess method.  

MR. THOMPSON:  Well, what we're doing is trying to develop the parameters for calculation of the AE method from an 80 percent load factor customer.  

MR. RUPERT:  I know you will have evidence later so I am a little nervous we're getting too far into this because this is the Union panel, not your panel.  But it struck me that you were kind of doing an aggregate excess calculation but on a different basis than it is really done.  That's my question:  Am I right in that?  You are trying to infer from an aggregate excess calculation how many times DCQ it is.  But I didn't see the calculation being done the way that I actually thought it was being done in practice.  

MR. THOMPSON:  It's a hypothetical customer, I guess is.  Does that answer your question?  

It is not taking -- it's assuming that the customer is down 20 percent of the year, and then taking full CD on the other 80 percent, but the down time occurs in the summer.  

So it is not a curve that's, you know, relatively flat, if you will.  It's illustrating the contractual -- what's the word, limits of the load factor calculation.  

MR. RUPERT:  Okay.  I will think about that some more.  My point that I was trying to ask about, though, was, I wasn't aware in any of the examples of aggregate excessive I’ve ever seen, that load factor has any place in the calculation whatsoever.  

MR. THOMPSON:  Right.  It doesn't have any place in the calculation.  It has a place in deriving the units per year.  So it's 80 percent of the 3650 produces 2920.  That gives you your DCQ.  Then you -- you then go into, with that data, the A and E space allocation at page 22. 

MR. RUPERT:  Okay, I will think about it some more.  Thank you.  

MR. THOMPSON:  Okay.  

Anyway, Mr. MacEacheron, I don't want to argue this with you because we will do that later.  But the math is right on page 22, I think you even say that in your reply evidence if I am not mistaken.  

MR. MacEACHERON:  The math is right.  The example is extreme.  

MR. THOMPSON:  All right.  Let's leave it.  Let's leave it there.  

Now, another benchmark that we suggest would be appropriate to consider is the DCQ multiple of the five customers that the Board has specifically approved for the longer term.  And that's the group of customers that is in tab 16, at A2.1.  That's the bottom page.  

Then if you go over to tab 23, you provided us with some average information for each of these subsets.  

Then if you look at subparagraph C, in tab 16, the average DCQ is 34,294 for those five customers.  Right?  That's what it says?  

MR. MacEACHERON:  You lost me in the trail there.  I'm not sure what you're referring to.  

MR. THOMPSON:  Tab 23.  

MR. MacEACHERON:  I beg your pardon?  

MR. THOMPSON:  Tab 23 of your material.  

MR. MacEACHERON:  Tab 23?  

MR. THOMPSON:  Right.  I am trying to ask, what is the DCQ multiple for the contracts that the Board has specifically approved, the space allocations for these customers that are the longer term subset.  So the total, if you look at subparagraph C of your letter, the total space for those customers is 5,190,538 gJs.  Do you see that?  

MR. MacEACHERON:  Yes.  

MR. THOMPSON:  And you can either divide that by five and then divide it by the 34,294 or you can multiply the 34,294 by five, divide it into the larger number.  But if you do that, you will get a DCQ multiple of 30.27.  

Would you take that subject to check?  

MR. MacEACHERON:  I would take that subject to check.  

MS. PASSMORE:  But that shouldn't be surprising.  

MR. MacEACHERON:  Yes.  

MS. PASSMORE:  When you go back to look at who the five customers are, only one of them was allocated space prior to 2000.  

So the remaining four customers were allocated space with a forecast in an AE methodology and that AE methodology does generate these higher multiples.  

MR. THOMPSON:  I'm not suggesting it is or isn't surprising.  

The data that's produced shows that four of them would not do very well on AE at the moment.  But that multiple, that DCQ multiple, is 30.27.  

Some of these people are power generators.  Maybe they all are.  And you're telling us that process loads are analogous to power generators.  

So I am saying, that's an appropriate benchmark to take a look at.  What's your comment on that?  

MR. MacEACHERON:  They, first of all, those long-term contracts -- amongst those long-term contracts are some very large industrials who have been allocated space based on their forecasts and their load profiles that suggest the aggregate excess allocation that was contracted to them and supports that.  

They're not strictly power generators.  They are -- 

MR. THOMPSON:  Cogen operators?  

MR. MacEACHERON:  There are some cogens in there as well, yes.  

MR. THOMPSON:  Anyway, that is the multiple which comes out of that subset.  

MR. MacEACHERON:  And they were allocated space using aggregate excess four out of the five, as Ms. Passmore indicated, an aggregate excess does allocate space in that magnitude as we saw yesterday in that first graph that I took you to where that customer was doing the net injections over the summer period, that requires a great deal more space.  

MR. THOMPSON:  As with our -- the grandfathered people got an allocation based on a Board-approved methodology, there was a promise for a longer term.  These people are the same.  They've got something.  Promise for a longer term.  At the moment, they're way off side A and E and you're saying, Well, they've got something at the beginning that was Board-approved.  They're off side now, but, okay, that's what they get, 30.27. 

All I'm saying is, in fairness, if we're going to use a fairness criteria, how can you claw back anybody that is subject to your proposal, below 30.27?  That's the Board-approved DCQ multiple.  

MR. MacEACHERON:  The Board approved the aggregate excess methodology and that methodology involves taking the customer's winter consumption and the -- and subtracting from it the average annual consumption in the winter.

MR. THOMPSON:  What's the DCQ multiple for the A and E subset?

MR. MacEACHERON:  There is absolutely no DCQ multiple anywhere in the aggregate excess methodology.  It takes volumes.  It is consumption-based.

MR. THOMPSON:  Do you know what the DCQ multiple is for the aggregate excess subset?  It is considerably higher than ten.

MR. MacEACHERON:  That's because that type of customer requires that amount of space to balance.

MR. THOMPSON:  That benchmark is dismissed by Union; correct?

MR. MacEACHERON:  What we looked at was:  What was a reasonable amount of space to effect the balancing obligations of the customer?

And what we note is that aggregate excess provides one methodology for allocating space to achieve that.  The process load customers that are fairly high load factor where aggregate excess does not work well for, we're proposing a 10X multiple of DCQ as the methodology.

MR. THOMPSON:  Should there be a margin of safety for these customers that you are proposing a DCQ multiple for, given the -- all of the things that can change loads in a year?

MR. MacEACHERON:  Again, we believe the allocation proposal that we have is -- provides a reasonable amount.

There are other services available to assist a customer if they're looking for contingency-type arrangements.  There is off-peak storage available for essentially nine months of the year at a very low price that these customers --

MR. THOMPSON:  Should there be a margin of safety in the allocation?  That was my question.  Can you just give me a yes or no?

MR. MacEACHERON:  No.  What we built in was -- was we looked at what would be a reasonable balancing requirement for that customer, and that's what we built in the analysis.

You can see that in the graph that I showed you on figure 3, I'm sorry, in the reply evidence.

MR. THOMPSON:  We will come to your graphs in the confidential information portion.

Now, just with respect to transition, we have the sanctity of contract point which could affect transition, and then we have suggested that where there is going to be significant reductions, they should be phased in over a number of years, and we suggested a 5X DCQ factor for that and you have dismissed that out of hand.

But looking at the T1 service today as it exists, DCQ obligated T1 service, and I think you agree, it's -- compared to your proposal to move it more on the unbundled path, it's more bundled than what you are proposing; is that fair?

MR. MacEACHERON:  It's more bundled?  I didn't quite follow the question.  I'm sorry, Mr. Thompson.

MR. THOMPSON:  You are proposing to -- I thought we went through this before -- to make the T1 -- existing T1 service, I think the words are:  Move it along the unbundled trail, or words to that effect.

MS. PASSMORE:  I would say that is fair.  It is a continued evolution of the T1 service.

MR. MacEACHERON:  I would add to that, you're right, we did discuss this before, and our customers are very much along that path with us, as far as their requests for incremental transactional activity, wanting to inject gas in the fall, um..., wanting to withdraw gas and sell it off in the winter when it is more expensive to optimize their storage.  

You know, that's -- this is transactional activity that we are seeing more and more requests for as time is going by.

MR. THOMPSON:  The T1 rate, currently a semi-bundled or semi-unbundled rate, and you have a chart somewhere where you describe that in your material.  I think it is 
in --

MR. MacEACHERON:  My reply evidence.

MR. THOMPSON:  Your reply, okay.

MR. MacEACHERON:  Table.

MR. THOMPSON:  You told me it is class rates designed from costs allocated to the class as a whole.

And if we wanted to convert this to a bundled rate - again, keeping all of the unit charges the same, representing a T1 class bundled rate - am I correct that the only additional charge we would need to add is an inventory carrying charge?

MR. MacEACHERON:  I can't comment on that, what specific component differences in the rate structures between the bundled and unbundled.

MR. THOMPSON:  Well, there is a unit charge for everything that's going on within T1, including injection into storage, withdrawal, and -- but no inventory carry.  This is what I heard Ms. Passmore say in-chief; right?

MS. PASSMORE:  Yes.

MR. THOMPSON:  And if you talk about a bundled service, the same thing happens.

When the DCQ exceeds consumption, it goes into the banked gas account, so notional storage.

When consumption exceeds DCQ, it comes out of the banked gas account.

But the only difference in the bundled is that the company carries the gas in the bank gas account, and there is a charge for that in the rate?

MS. PASSMORE:  Well, the other difference is the pure nature of the bundled service.  So essentially each individual customer pays for assets at a level that the bundled service is using, not what they are using; right?  So that is the other very important part of that is that you are -- what the bundled rate class uses is what the individual customer pays for.  

MR. THOMPSON:  But the injection and withdrawal charges, and the distribution charges and everything else in T1, is derived by taking all of the costs allocated to all of the class, right, and dividing them by all of the volumes.  That will give you a unit charge.  If I use three units, I pay three times the unit charge.  If I use ten, I pay ten times the unit charge.  That could be easily converted to a bundled rate.

MS. PASSMORE:  No, because the difference with T1 is if you contract for three, you use three.  The bundled -- if the bundled rate class on average uses ten, you pay for ten.  That's the difference between bundled and semi-unbundled.

MR. THOMPSON:  It could still be converted, whether you are right or we are right, and the company would be kept whole?

MS. PASSMORE:  I don't understand the question.  You're talking about trying to make T1 back to M7?

MR. THOMPSON:  No.  It's semi-bundled or semi-unbundled now.  You want to move it over here; right?  You say we can migrate back, if we want.

What I'm suggesting is just make it bundled.  Make it equivalent to bundled, and I think you can do that with unit charges.  You just need to add an inventory carry charge.  Do you want to think about it and get back to me?

MR. MacEACHERON:  No.  I'm not quite following you either.  We're not proposing a change to the T1 structure here.  All we're talking about is the allocation of storage to the T1 rate class, but the actual structure of it versus the bundled rates and the cost accounting that underpins the bundled rates, that's a whole new science.

MR. THOMPSON:  Well, I'm not so sure it is, but would you think about it and get back to me as to what it would take to convert T1 and the unit charges in it to a bundled class service?

How many charges would change in the rate schedule?  You don't know, because you're not the cost allocator.

MS. PASSMORE:  That's correct.

MR. THOMPSON:  You're going to have to go and speak to Mr. Kitchen.  But what is running through my mind is maybe you shouldn't transition to your new, more-down-the-road unbundled service until this service is available for people to take it, if they want it.  You want to force them down there.  They want to stay here.  And let's see what "here" looks like.  Get my drift?  

MS. PASSMORE:  Excuse me, sir.  How is here different than M7?  

MR. THOMPSON:  Well, because M7 has two customers in it.  T1 has these large customers and that's why the unit charges will be different. 

MS. PASSMORE:  But the M7 is the bundled rate.  So why would not the T1 customer choose the bundled rate?  

MR. THOMPSON:  Because they would want to have all of their service characteristics in the determination of the charges.  

And I'm suggesting to you, if they're derived from class costs and class data, they're in the T1 rate schedule already.  

MR. MacEACHERON:  But the very nature of the bundled rate is that costs are allocated in the rates based on the class average.  And the T1 is not that type of beast.  

If the customer is looking for a bundled service, we offer the M7, the M4, the M5 bundled services, depending on the type and size of the customer.  Those service options are available and at contract renewal we would help a customer move to the rate class of their choice.  Including -- and likewise from the bundled back to the T1, if that's where they would like to go.  

MR. THOMPSON:  So do you want to discuss it with Mr. Kitchen, or not?  

MS. WONG:  Mr. Thompson, I would object to the undertaking just because I believe it is outside the scope of this hearing.  

MR. THOMPSON:  Well, it's a transition measure, I'm suggesting to you.


What we had said in our material was in paragraph 87 that we would have to plan for the contingency of a migration for bundled service.  That would be, in effect as I see it, redesigning M7 to be like T1. 

I just want wanted someone, if they wouldn't mind, to take a look at the T1 suite of charges and simply tell me what they would be, how they would differ if this was a bundled rate class.  Can I have an undertaking to do that?  

MS. CHAPLIN:  Can I ask, would that be comparable to asking what would the M7 charges be, if all of the T1, grandfathered T1 customers moved back to M7?  

MR. THOMPSON:  I think it would be. 

MS. CHAPLIN:  Would it be the same as that?  Could Union answer that question?  

MS. PASSMORE:  Yes.  We could answer that question.  

MS. WONG:  Before we say that so quickly, are you looking for an actual dollar amount or just the concept?  I'm not sure Union can provide a dollar amount.  I don't know.  

MR. THOMPSON:  It would be the unit charges for service.  M7 has -- I have the rate schedules here somewhere.  

MR. MacEACHERON:  You know, I'm not sure of what the calculations associated with that would be, but there would have to be some assumptions.  

Are you talking about the entire T1 customer base switching over to M7?  

MS. CHAPLIN:  The grandfathered ones, I think. 

MR. THOMPSON:  Yes, the grandfathered ones we're talking about. 

MS. WONG:  Just so we have some clarity of what we're being asked.  If all of the grandfathered customers switch back to M7, how would that affect the M7 rates.  Is that the question?  

MR. THOMPSON:  That works.  I like mine better but that will work. 

MS. CHAPLIN:  I'm not trying to change your question, I'm just trying to understand if it is an equivalent answer and therefore might be something that actually Union can do.   

MS. WONG:  Well, I am told that I need to make sure that if we're going to do this calculation based on the M7s or the grandfathered switching back at their existing parameters?  

MR. MacEACHERON:  I might just add a comment on that.  I believe that the M7 not all of those customers would fit the requirements for M7 service.  So some might have to go to M5 or M4 because of their size.  

MR. THOMPSON:  Well, let's do it this way.  

MR. MacEACHERON:  All of those who could fit the M7, perhaps.  

MR. THOMPSON:  My question was:  What changes would there be in the T1 rate schedule if it were treated as a bundled service rather than unbundled service.  So I am looking for -- you've got all of those unit charges.  So I would ask you to undertake to see if you could provide a response to that question.  

The other question is, of the grandfathered customers, T1 who qualify for M7, what would be the M7 result if they all went back?  Does that work?  

MS. WONG:  I think on the latter one we can do that.  

On the first question, I'm not sure that we can, but I suppose we can have a look at it and see what we can provide.  

MR. THOMPSON:  Thank you very much.  

With that, I am finished.  Thank you very much, Mr. Chairman.  

MR. SCHUCH:  Mr. Chair, I think we should assign an undertaking to those two undertakings. The first would be HDU2.2.  
UNDERTAKING NO. HDU2.2:  TO ADVISE What changes would there be in the T1 rate schedule if it were treated as a bundled service rather than unbundled service.


MR. SCHUCH:  The second would be HDU2.3. 
UNDERTAKING NO. HDU2.3:  TO PROVIDE of the grandfathered customers, T1 who qualify for M7, what would be the M7 result if they all went back

MR. KAISER:  Thank you.  

MS. WONG:  Mr. Chair, if I might I was wondering if I might be allowed to ask two questions in reply that came out of Mr. Thompson's examination.  

MR. KAISER:  Go ahead.

MS. WONG:  Thank you. 

MR. KAISER:  Before you do that, is there anyone else questioning this panel?  Why don't you go ahead, before there is any re-examination.  
Cross-examination by Ms. Young:


MS. YOUNG:  I just wanted to follow up very quickly on the various discussions about your additional flexibility proposal.  

Many of the questions have been answered but I have two or three remaining.  

Specifically, if I look at Exhibit A3, page 10.  In the second paragraph under the heading "additional deliverability-related flexibility," that first -- the first part of the first sentence reads: 
"If high deliverability above 1.2 percent is sold at market prices and if cost-based space is allocated on a standardized basis Union proposes that T1 customers should have full access to their deliverability."


Am I correct in interpreting that to mean there are two conditions that absolutely must be met before you would consider the additional flexibility proposal going forward?  

MS. PASSMORE:  That is the structure of the proposal, is reflecting market prices for deliverability above a standard level and the standard level that was proposed within this proposal is 1.2 percent.  And then it was the concept of the reallocating of storage space.  So going through the exercise of reallocating storage space.  

MS. YOUNG:  And what's the rationale for making the proposal conditional on those two items?  

MS. PASSMORE:  Well, the first concept was, is that when you charge -- you are giving customers quite a bit of flexibility and opportunities to take -- to take advantage of market opportunities at Dawn.  

So to allow those customers to compete against marketers or other customers at Dawn using cost-based deliverability and cost-based space, and they would be competing directly against other customers who are using market priced deliverability that is bundled with market priced space did not appear equitable.  So that is the flip side of really what we were attempting to propose with the evolution of the service was Union recognizing if customers were begin to pay market prices for services that are using the Dawn storage, they should be given the rights that mirror what the ex-franchise customers are using.  

So that was the first part of it.  

The second part of it is simply a concern that you do have customers that from the analysis that we have seen of the actual consumption that the customers have been using against their space currently are allocated excessive amounts of space.  So again, to give those customers full flexibility to use their deliverability and injection capabilities at Dawn to then access excessive cost-based storage was, again, completely inequitable when they would be able to compete against a marketer who is using market- priced deliverability that is bundled with market-priced space. 

MS. YOUNG:  If at the end of this proceeding just by way of example, suppose on the deliverability side the concept was what you were proposing but perhaps the percentage wasn't 1.2 percent, and perhaps on the space allocation side there was a multiple of DCQ methodology approved, but it's not the multiple 10, does that mean the additional flexibility proposal is off the table?

MS. PASSMORE:  I don't have an answer to that right now.

MS. YOUNG:  Would you like to think about it?

MS. PASSMORE:  Yes.

MS. YOUNG:  By way of an undertaking?

MS. PASSMORE:  Yes.

MS. YOUNG:  Is that fair?

MR. KAISER:  Can we have a number for that, please?

MS. CAMPBELL:  Yes.  The number for that would be HDU2.4.
UNDERTAKING NO. HDU2.4:  CONSEQUENCE TO ADDITIONAL FLEXIBILITY PROPOSAL IF PERCENTAGE IS NOT 1.2 AND  DCQ MULTIPLE IS NOT 10

MS. YOUNG:  If I might just supplement that.  When you are thinking about the answer to the undertaking, how would ‑‑ what we have heard is that you have had requests now for additional flexibility.

So given that there is the demand for it, how does that play into your answer in response to this undertaking?  If you could just keep that in mind as you are responding, that would be helpful.

Those are my questions.  Thank you.

MR. KAISER:  Thank you, Ms. Young.  Mr. Aiken, do you have any questions of this panel?

MR. AIKEN:  Yes, Mr. Kaiser, I do.
Cross-examination by Mr. Aiken:


MR. AIKEN:  Panel, Randy Aiken on behalf of the London Property Management Association.  I hope to be fairly quick.

As I understand your proposal, it will not have any impact on M2 customers that move to the unbundled U2 service and use a standard peaking service; is that correct?

MS. PASSMORE:  That is correct.

MR. AIKEN:  And just to confirm, the standard peaking service is defined as a service capable of providing 10 percent deliverability?

MS. PASSMORE:  With the appropriate weather conditions, and there are conditions that are attached to that.

MR. AIKEN:  Now, it's my understanding that the existing M2 rate schedule is being replaced by an M1 and M2 rate schedule effective January 1st; correct?

MS. PASSMORE:  That is my understanding.

MR. AIKEN:  And the difference between M1 and M2 under the new rate classes is their annual volume.  There is a 50,000 cubic metre per year dividing line?

MS. PASSMORE:  I understand it's annual volume streak, and I am not able to confirm the threshold at this point.

MR. AIKEN:  Would you take that subject to check?

MS. PASSMORE:  Yes.

MR. AIKEN:  Thank you.  In Exhibit A3.3 - I don't think you need to turn it up.  It is an LPMA interrogatory - it was indicated that Union has close to 100,000 unbundled customers served under rate U2; is that correct?

MS. PASSMORE:  Yes.

MR. AIKEN:  Now, I am a little confused.  I have pulled up the U2 rate schedule from your most recent QRAM application that was just recently approved.

When I look at the applicability section, it says that the U2 rate schedule is applicable to a customer or an agent who is authorized to service residential and non‑contract commercial and industrial end users paying for the monthly fixed charge and delivery charge under rate M2.

My question is this:  Does the U2 rate schedule only apply to the new M2 customers, or is it also applicable to M1 customers?

MS. PASSMORE:  I don't know.

MR. AIKEN:  Could you undertake to determine that?  Because right now I am not sure where -- the majority of your general service customers, which would be under M1, they don't appear to fit under the U2 rate schedule.  

MS. WONG:  We'll give you that undertaking, Mr. Aiken.

MR. AIKEN:  Thank you.

MS. CAMPBELL:  That would be HDU2.5.
UNDERTAKING NO. HDU2.5:  TO PROVIDE ANSWER TO WHETHER U2 RATE SCHEDULE APPLIES ONLY TO NEW M2 CUSTOMERS.


MR. AIKEN:  The London Property Management Association has members that will be served under a number of different rate classes, including the bundled rates M1, M2, and M4, which is a contract rate class.

So my questions are about the M4 customers.  If an existing M4 customer with an annual volume of a million cubic metres wants to go semi‑unbundled, what rate class would they be served by?

MR. MacEACHERON:  The volume of that customer again is?

MR. AIKEN:  A million.

MR. MacEACHERON:  One million?

MR. AIKEN:  Yes.  So they're well within the M4 MAV of 700,000 a year.  My question is:  If they want to semi‑unbundle, is there a rate they can go to?

MR. MacEACHERON:  The T1 rate schedule would be the appropriate one.  Unfortunately, though, there is a limitation of a minimum volume of 5 million.

MR. AIKEN:  So then I take it there is no semi‑unbundled rate that they could migrate to?

MR. MacEACHERON:  For that size of customer, that's correct, but not the semi‑unbundled.

MR. AIKEN:  Now, if that same M4 customer wanted to go all the way and fully unbundle, what U rate class would they be served under?  Again, I assume they would not qualify to be a U7. 

MR. MacEACHERON:  We do offer U4, don't we?

MS. PASSMORE:  U5.

MR. AIKEN:  I'm curious about the U5 option, because I understand U5 is primarily an interruptible rate class, whereas M4 is a firm rate class.

MS. PASSMORE:  I don't know.

MR. AIKEN:  Could you undertake to determine whether they could be served under a U5 rate class, because in that rate schedule it does indicate that Union will combine, at its discretion, firm volumes with interruptible volumes?

MS. WONG:  Yes, we will give you that undertaking, Mr. Aiken.

MR. SCHUCH:  Mr. Chair, that will be undertaking HDU2.6.
UNDERTAKING NO. HDU2.6:  DETERMINE WHETHER M4 CUSTOMER COULD BE SERVED UNDER U5 RATE CLASS.


MR. KAISER:  Thank you.

MR. AIKEN:  If I could have you refer to your supplemental evidence, Exhibit A1, page 6, this ties into one of my previous questions.  About five lines down, there is a reference to a U1 rate.  Should that be U2?

MS. PASSMORE:  Yes.

MR. AIKEN:  Again, that's Exhibit A1, page 6.

MS. PASSMORE:  That's appropriate.  Yes, it should be U2.

MR. AIKEN:  U2?

MS. PASSMORE:  Yes.

MR. AIKEN:  Okay.  Now, at the bottom of page 6, this is the last paragraph that starts on the page.  The evidence states that:

"Because the total amount of deliverability is constrained by the physical limitations of the system, there must be some limitation placed on the amount of cost‑based deliverability that is available to semi‑unbundled and unbundled storage customers."

My question is:  Why has this limit been proposed only for semi‑unbundled and unbundled customers?  In other words, why is there no limitation needed on bundled customers?

MR. QUIGLEY:  Just give me a minute.

MS. PASSMORE:  Would you ask the question again?  I think we have a little difficulty with clarity here.

MR. AIKEN:  At the bottom of page 6, the evidence states that:
"Because the total amount of deliverability is constrained by the physical limitations of the system, there must be some limitation placed on the amount of cost‑based deliverability that is available to semi‑unbundled and unbundled storage customers."

So my question is:  Why has this been limited, this limitation, to semi‑unbundled and unbundled customers, or, more specifically, why is there no limitation on bundled customers?

MR. MacEACHERON:  Because the bundled customers are managed as a pool.  They're not allocated individual deliverability rights, and they're not contracting for those individual rights.

We manage the bundled rate class as a pool, and that is the reason.

MR. AIKEN:  Would you agree that existing customers that use storage for seasonal or daily balancing can meet their needs with the standard deliverability service - that is, 1.2 percent of their storage space allocation - with the exception, of course, of the M1 and M2 customers, the standard peaking service?

MR. QUIGLEY:  Sorry, could you repeat the question a little slower, please?  I had trouble keeping up with what you ‑‑

MR. AIKEN:  Sorry, would you agree that existing customers that use storage for seasonal or daily balancing can meet their needs with the standard deliverability service - that is, 1.2 percent of their storage space allocation - with the exception of the M1 and M2 customers that need the SPS service?

MS. PASSMORE:  What type of customers are we speaking of?

MR. AIKEN:  Existing M4 customers, for example.  An apartment building that is under a M4 contract.  

MR. MacEACHERON:  We're struggling a little bit because it is a bundled customer you're talking about.  Maybe we're missing your question, Mr. Aiken.  

MR. AIKEN:  I guess my question is:  Even if they are a bundled customer, are their physical needs met by storage deliverability of 1.2 percent?  

MR. MacEACHERON:  Our storage pools with their standard deliverability of 1.2 percent underpin all of our services, including the service to our bundled customers.  

Whether or not -- because we manage them as a pool, we might not be actually withdrawing or injecting as a T1 or a unbundled customer might do in any day to serve that customer.  We might be managing with the diversity of the pool, of the bundled pool.  

MR. AIKEN:  I was going to ask you about the diversity.  

MR. MacEACHERON:  But our storage does come standard with 1.2 percent and that is what underpins our service to all of our customers.  

MR. AIKEN:  Attachment 4 of Exhibit A1 seems to indicate that most of the rate classes show a required deliverability above 1.2 percent.  Is that correct?  

MR. QUIGLEY:  Attachment 4 indicates that most of the classes on a peak day are being allocated costs for deliverability above 1.2 percent because we are still in a bundled world and we manage those, all of those rate classes as a bundled pool.  And it depends on, at the specific time that that cost allocation study is done, the unique characteristics of the customers within that rate class at the time.  

MR. AIKEN:  Now, earlier you indicated that... sorry.  

If Union's been able to manage the deliverability of all of its customers whether those customers are bundled, unbundled or semi-unbundled, using its existing storage assets, why does this now need to be changed?  This goes back to my question before about the limitations that we're trying to address.  

MR. QUIGLEY:  What we're looking for in this hearing is to come up with what is the standard deliverability at cost-based rates.   

What has happened is, as we had laid out in the original unbundling agreement that -- we separated the storage into two pools, the standard storage service are based on pools at 1.2 percent which serve all of our non-peak customer rate classes in-franchise and our peak standard peaking service, our high deliverability 10 percent pools.  

And the evolution of unbundled would have had, if those customers had unbundled, the customers within M4 and M5 would have taken 1.2 percent standard deliverability with them.  Customers in M2 if they had gone unbundled would have taken a portion of the standard deliverability and the high deliverability.  Because we're not in that unbundled world yet, we are still in a bundled environment, we're managing all of these pools in aggregate.  So some of that high deliverability pool, some of the -- of it is being used to manage these bundled rate classes.  

MR. AIKEN:  If the Board denied your application, your proposal for the high deliverability, for the unbundled and semi-unbundled customers, would Union be able to manage the deliverability of all of its customers combined?  

MS. PASSMORE:  Well, what is starting to happen and I think what you will start to see is that as we all understand more and more through DSM and initiatives, is that the average use of every customer is getting lower and lower every year.  Yet the peak day or the peak usage remains the same.  So as we continue to have that gap growing and growing and growing you're going to see the residential peaking customers require that high deliverability more and more.  There is only a limited amount of that high deliverability coming from the cost-based, high deliverability storage pools.  That is why the proposals stop, as a customer moved way from the bundled rate, the intent was to take into their semi-unbundled or unbundled state which comes with them -- with the more sophisticated customer, more access to the marketplace to take opportunities to third-party services, let's put a line in the sand of how much deliverability goes with that customer.  

Yes, we continue to manage the bundled continuing using the combination of SSS and SPS, but as that gap continues to grow you are going to see the residential customer.  So each piece that we allocate, each of that piece of SPS that we take away and hand to a commercial or an industrial customer, that has other tools at their fingertips is taking it away from the residential pool.  

MR. AIKEN:  So have we seen in past rate filings this increase in I guess in the storage requirement for residential customers as they -- as DSM reduces their annual volume?  Have we seen that reflected in the amount of storage being allocated to the average residential customer?  

MR. MacEACHERON:  I would think it has an effect that has dampened with growth that we see generic or organic growth, you might say, within the franchise area, that certainly the effects of energy efficiency are there and dampening what growth -- the impacts we're seeing from new subdivisions, new businesses, whatever.  

MR. AIKEN:  I'm going to switch gears a little bit here now.  

If a current M7 customer switches to a T1 or U7 rate and deliverability above 1.2 percent is at market-based rates as you propose, what would happen if that customer decides a year later, for example, to return to the bundled M7 rate?  Do they automatically return to cost-based deliverability for all of their requirements?  

MR. MacEACHERON:  Yes.  Because the M7 rate is a bundled rate and they would be absorbed within the bundled rate.  And at the time of cost allocations, their volumes and activity would be picked up and reflected accordingly.  

MR. AIKEN:  At Exhibit A4.6, which was a Kitchener interrogatory, deliverability is defined as the amount of gas a customer has contracted to be able to inject or withdraw in any given day.  

In the formula provided in that response, the deliverability percentage appears to be at least to me an after-the-fact calculation.  Yet your proposal seems to be saying the deliverability is calculated by applying the percentage to the storage space.  

Is that correct?  Like -- 

MR. MacEACHERON:  Our standard deliverability is 1.2 percent when it is expressed as a percentage of our storage space, that's how -- how we have, how the industry characterizes deliverability in relation to storage, as a percentage of storage space.  And the standard is 1.2 percent for Union's pools.  

This formula, I'm not sure which one -- are you referring to in the response, are you?  

MR. AIKEN:  Yes, yes.  

MR. MacEACHERON:  That's just taking whatever deliverability they have and dividing it by the storage amount to calculate that percentage.  That's what that formula is attempting to illustrate.  

MR. AIKEN:  Now, I haven't been able to attend earlier today, so if this has been covered, I apologize.  

But to me it is a simple question.  Why could you not simply define deliverability for a semi-unbundled or unbundled customer as the difference between their firm CD and their DCQ for withdrawal purposes, instead of equal to their DCQ for injection purposes?  I'm sure somebody has asked that, because I mean it is a basic question.  

MS. PASSMORE:  We're not defining it as either.  

MR. AIKEN:  My question is, why?  

MS. PASSMORE:  Because the proposal is that the customer determines the amount of deliverability they want.  And then we are basing it on what the standard pools are able to deliver, what should be cost-based and that is 1.2 percent.  But there is nothing in our proposals, anywhere, that would suggest the amount of deliverability the customer can contract for.  

MR. AIKEN:  When you talked about storage services, what exactly is it that we're talking about?  Are we including the storage space?  Injection withdrawal rights?  Deliverability?  

MS. PASSMORE:  Those are all components of storage services. 

MR. AIKEN:  Is there something in addition to those that is considered part of storage services?  

MR. MacEACHERON:  As it relates to a semi-unbundled customer?  I believe that is the gamut right there.  That is the full slate of services as it relates to an unbundled customer.

MR. AIKEN:  Okay.

MR. MacEACHERON:  Now, there is other services that a customer could purchase to complement the semi-unbundled service, but under the T1 rate schedule or the T3 rate schedule, you will find space and you will find deliverability under the storage parameters for that service.

MR. AIKEN:  And when we talk about storage assets, does that include assets that are related to deliverability?  Again, is it all-encompassing?  Is it space?  Is it deliverability?

MR. MacEACHERON:  I think generally, yes.

MR. AIKEN:  I guess my final question is that your proposal basically is to have a methodology to determine storage space, and then deliverability falls out of that as 1.2 percent.

My question is:  Could you reverse that, so that instead of determining the storage space through some methodology, and then determining deliverability as 1.2 percent of this amount at cost-based rates, why not determine the deliverability requirement of a customer, and then divide that amount by 1.2 percent to come up with the space that would go along with that?

MR. MacEACHERON:  I think what we found in looking at that type of scenario is that it results in a very large amount of space associated with any given level of deliverability, and -- it can result in a large amount of space.  And that may ultimately be above and beyond what the customer might need to reasonably balance their load, their supplies versus their consumption.  And we would suggest that would be an inefficient -- result in an inefficient use of space.

MR. AIKEN:  Have you calculated the potential increase in storage space that would be allocated to the T1 and/or T3 customers of that approach?

MR. MacEACHERON:  No, no.

MR. AIKEN:  Could that be something that you could do fairly easily?

MR. MacEACHERON:  You're asking, if we take the total deliverability for the T1 rate class and assume that's 1.2 percent of space, what would the space number be?  Is that what I am hearing you asking?

MR. AIKEN:  That's right, yes, backwards from what you are doing now.

MR. MacEACHERON:  That math is doable.  I haven't done it here.

MR. AIKEN:  Would you undertake to provide those numbers?

MS. WONG:  Sure.  We will do that calculation.

MR. SCHUCH:  Mr. Chair, that will be undertaking HDU2.7.
UNDERTAKING NO. HDU2.7:  PROVIDE TOTAL DELIVERABILITY FOR T1 RATE CLASS AT 1.2 PERCENT OF SPACE AND PROVIDE SPACE NUMBER.


MR. KAISER:  Thank you.

MR. AIKEN:  Thank you.  Those are my questions.

MR. KAISER:  Thank you, Mr. Aiken.  Mr. Cass, did you have anything for this panel?

MR. CASS:  No, sir.  Thank you.

MR. KAISER:  Ms. Wong had some re-examination.

MS. CAMPBELL:  Actually, just before we start.

MR. KAISER:  Oh, I'm sorry.
Cross-examination by Ms. Campbell:


MS. CAMPBELL:  I have, first of all, one pretty simple question which I guess is simply a "why not" question.

The second question I have has to do with customer impacts.  Now, it is fairly lengthy, and it's a bit of an exercise.  What I propose to do is to hand it to my friend over the break and Ms. Wong can discuss it, and, if there are any issues clarifying the language, that can be done offline so that we don't take up time.

So what I would like to do is just ask my simple question right now, and then after the break, come back, and, once this has been clarified and confirmed, propose it as an undertaking in this hearing.  Then the panel can obviously have their questions of the -- of this witness panel.  

My simple question - and I hesitate in saying that, because they always turn into big questions when you ask it like that - has to do with Exhibit A2.9.  And that is the exhibit that has 51 customers on it.  It has the 51 customers, and it shows cost-based firm deliverability as a percentage of contracted space, and then it shows the market price for deliverability.

And A and B, we decided this morning if you add A and B, you get the deliverability of the 51.  And Mr. Thompson has pointed out to you that nine of the 51 have zero percent market-based price.  They actually are fine with 1.2 percent or less as standard deliverability.

The other 42 require more than 1.2 percent and, if I understand correctly, are currently receive more than 1.2 percent.  They are receiving whatever A and B equals currently.

MS. PASSMORE:  That is correct.

MS. CAMPBELL:  All right.  So my question to you is:  If you're capable of do I can it now, why can't you do it going forward?  I heard what you said about constraints and 1.2 percent being the standard, but if you can do it now -- and I assume nothing has changed today.  You're telling us everything that exists today.  You're managing to provide that service to those 51 -- excuse me, 42 customers.  Why can't you do it going forward?

MR. MacEACHERON:  We are proposing that our customers can select a level of deliverability they want.  So if these T1 customers choose to roll over their contracts at the parameters indicated in the schedule A2.9, our proposal is is that they would pay 1.2 percent -- the first 1.2 percent would be cost and that they would pay the market for the higher level of deliverability that they're contracting for, consistent with that cost, that -- the price for that service, the higher deliverability service.

MS. CAMPBELL:  All right.  When you were calculating your 10X DCQ, one of the things that you said a number of times and you put a graph in, was pointing out that it is reasonably in line with what a customer is likely to require; right?  That's language straight from NGEIR.  

For those who keep notes, it is page 89.

So you did a graph and you showed - and we looked at it, it's in your reply evidence - that 10X DCQ for, I believe it was, an 80 percent load customer --

MR. MacEACHERON:  That's correct.

MS. CAMPBELL:  -- met those needs most of the time.

MR. MacEACHERON:  Correct.

MS. CAMPBELL:  Correct?  So why can't you come up with a deliverability that meets the needs most of the time, cost-based?  What's the issue?  Why not?

MS. PASSMORE:  It returns to the physical capability.  I guess that is what we keep coming back to, is that it returns to the physical capability of the pools, and customers have elected to move away from the bundled service into a service where they have the opportunities to choose market price third-party-provided services to meet their needs, and as part of a standard proposal -- the proposal is you would choose the standard deliverability, would be a reasonable amount of deliverability being what the pools do, the base level pools do.

That's the logic behind the proposal.

MS. CAMPBELL:  But, currently, the deliverability is cost-based, is it not?

MS. PASSMORE:  Yes, it is.

MS. CAMPBELL:  Whether it is 13 percent or 10 percent or 0.6 percent, it is all cost-based?

MS. PASSMORE:  That's correct.

MS. CAMPBELL:  And it is just going forward that you are proposing that the costs be changed.  Right now, all of that is cost-based?

MS. PASSMORE:  That's correct.

MS. CAMPBELL:  And you are providing it to all of those customers as they request it, as they need it?

MS. PASSMORE:  That's correct.

MS. CAMPBELL:  Thank you.  I will give Ms. Wong the question.  Those are my questions.  Thank you.

MR. KAISER:  Did you want to do your re-examination after the break?

MS. WONG:  That would be fine.  Thank you, Mr. Chair.
Questions by the Board:


MR. KAISER:  Can I just follow up on something you said earlier, and it relates to the question that was just put to you by Ms. Campbell.


Is there a notion in your thinking, is it part of your thinking, that you are running out of high deliverability storage?  You are repricing the deliverability in this proposal, drawing a line in the sand, as you say, at 1.2 percent, which wasn't in the sand before.  

You have referred to this notion that there seems to be more peaking in your base load residential component driven by conservation.  The peaks are still there, but the average is down, and it sounds like they're requiring more high deliverability service.  Am I to take that from your remarks?

MS. PASSMORE:  That is over time what we will be seeing.

MR. KAISER:  Right.  That's what inferred from that.  So is part of this repricing a concern that there is a limit on the amount of high deliverability capacity you have in these pools, and, in order that it be used efficiently, it needs to be repriced?

MS. PASSMORE:  Well, I think you can see that there's a limited amount of high deliverability storage purely by the fact that we had to come to the Board for the approval for our most recent high deliverability expansion.  In order to generate the services that are required out of NGEIR, in order to provide the marketplace with high deliverability storage, we had to put in the most recent expansion effort.

So that high deliverability storage that was discussed back in NGEIR in 2000.  At that time, it was determined that the 10 percent pools really were required for the general service customers.  

Now over time the general service customers haven't been using it to the same degree and so it has been using to manage the bundled rate classes, but as we do start to see, we can see it even with the DCQs that are arriving at Parkway, even though our peak day requirements continue to grow for the in-franchise customer classes, the amount of obligated gas arriving is going down at Parkway.  

So therefore we start to see, well where is the requirement?  Who is going to make that up?  And that make-up is going to come out of storage for the in-franchise customers.  

MR. KAISER:  All right.  Thank you.  We will come back in 15 minutes and complete this panel.  

--- Recess taken at 3:05 p.m. 

--- On resuming at 3:37 p.m. 


MR. KAISER:  Please be seated.  Mr. Thompson...

MS. CAMPBELL:  We were having a rousing discussion when you walked in.  We still have some clarification.

I think the idea of providing a calculation of customer impact is not the difficulty.  It is where do they start from.

So that is something that I think needs to be hammered out and we can do immediately after the finishing of today.  My proposal was to give it an undertaking number, in any event, pending, of course, clarification what we would file tomorrow would be something that everybody is comfortable with, in the sense of understanding parameters, and that would be established at the end of today, hopefully.

MR. KAISER:  All right.  What's the number?

MR. SCHUCH:  The number then would be HDU2.8, and that is undertaking to Union Gas from Board Staff, customer impact analysis of storage allocation proposals.
UNDERTAKING NO. HDU2.8:  PROVIDE CUSTOMER IMPACT ANALYSIS OF STORAGE ALLOCATION PROPOSALS.


MR. KAISER:  Thank you.

MR. KAISER:  Ms. Wong, before you proceed with re-examination I think the panel has some questions.  Maybe we should deal with those before you finish.

MS. WONG:  Very good.  Thank you, sir.

MR. RUPERT:  I have about seven or eight questions, and I will warn, you they're probably in random order.

The first one is on your original evidence.  That's February 2, 2007.  I think it's now called Exhibit A1.  It's on pages 11 and 12, which are the two pages that have the load profiles and graphs of storage.  You talked about those yesterday.

I have just a simple explanation that I require.  On page 11 you've got not only the dotted line, which is the actual storage balance, but then you've got the aggregate excess space, which is the straight lines over the three years.  Then on page 12, again, you've got your aggregate excess straight lines, which decline.

I was just trying to understand the changes in aggregate excess in these three years.  Probably the answer, all I need is:  On what basis has aggregate excess been calculated?  For example, in page 11, it goes up by about 8,000 gJs after the first year, and then it falls by over 10,000.

So what is the reason why the aggregate excess number bounces around in this period?

MS. PASSMORE:  It is because it is based on one year.  It's prior year's actual consumption, right, and it is using the Board approved methodology for AE.

So from year to year, if the excess daily winter consumption exceeds the average daily consumption multiplied by 151, then the amount of storage would either go up or down, just based on how -- it is purely based on applying the calculation to the prior year's daily actuals of consumption.

MR. RUPERT:  Even though in page 11 the middle year here has at least a higher peak than the other two years and probably, if I can eyeball the -- you know, I don't know whether it is a higher consumption or not, but the storage falls dramatically or falls a lot in the third year.  You're saying if I had the underlying data, I would be able to see that, in fact, there was less of a winter/summer differential in the middle year than the previous year?

MR. MacEACHERON:  Just maybe a point of clarification on what I just heard there.

What we did is, in each year, we took the actual consumption for that customer, and then calculated what the aggregate excess would be, using -- knowing that full consumption --

MR. RUPERT:  Oh, for the particular year?

MR. MacEACHERON:  For that particular year, yes.  For that particular year.

MR. RUPERT:  That explains it, and I guess that explains the next one, probably, as well, since I am not sure about that.

On the next one, which is the process load, is that the same explanation there?

MR. MacEACHERON:  Yes.  So the three years that you see reflect -- if you could almost draw a line straight up from where the break point is in the aggregate excess solid line, the vertical line there, that would represent one year, and then if you look above, you could probably find an explanation in the consumption pattern above that resulted in the storage allocation that you saw.

For instance, if you look at that first year, which is the year to your left where they actually had some storage allocated to them using the aggregate excess methodology, that is largely because of the significant lack of consumption that you see above in the period just prior to November, in the late October period, which would have been in the summer months, included in the summer months, because the aggregate excess winter months begins 
November 1.

So that large period of no consumption activity influenced the aggregate excess calculation in that case, in a positive way.

MR. RUPERT:  Then the reverse is true in the year 2005 where the winter consumption, I guess, is hit by that outage, or whatever?

MR. MacEACHERON:  Yes, exactly, exactly.

MR. RUPERT:  Okay, thanks.  That's good.

The next question is on Exhibit A2.9, which is the interrogatory response that's been referred to several times today, mostly recently by Ms. Campbell.

This may be something that you get into in the confidential or in camera part here.  If it is, just tell me.  But I am curious about the customers who've got substantially more deliverability, and the same question could be asked for those customers who have substantially more space than aggregate excess. 

When you look at the actual consumption and actual storage used by these people, or in this case 2.9, the actual extent to which they're using the deliverability they have in their contract, are there a significant number of cases where the actual use over the past few years by these customers is significantly less than their contracted amount; i.e., is it clear -- are there cases where it's clear the customers have under contract deliverability that is far above what they're actually using in their operations?

MR. MacEACHERON:  That's a good question.  I would have to look at the -- I would like to look at the data and try and find that answer for you, if I could.

Off the top of my head, I can't recall.

MR. RUPERT:  That would be -- I would extend that to the space, as well, because I'm not suggesting we back into the answer.  However, you've gone at this, as I describe it, by saying, Given generally how these kinds of customers operate and what they do in their business, this kind of model is what we'll use for them.  That's fine.

But also sort of going the other way saying, Given what they're doing with their storage today, the space they're using and the deliverability they're using, is there evidence that some of them have got way too much or not enough?  

So if you could look at that?  I realize I'm not going to ask for 51 customer profiles, and that would be confidential, anyway, but I would like to get some understanding as to what extent the current contract parameters are clearly resulting in an excess amount of space or deliverability for these customers.

MR. MacEACHERON:  Okay.

MR. RUPERT:  Thanks.

MS. WONG:  Are we going to get an undertaking?

MR. SCHUCH:  Yes.  That would be undertaking HDU2.9.  I wonder if I could get Mr. Rupert to repeat the undertaking for the court reporter.


MR. RUPERT:  I'm surprised you haven't got that perfectly, Colin.  It is Exhibit 2.9, but it is just not just deliverability.  It is both deliverability and storage.  The undertaking would be to provide an indication, for the 51 customers, the extent to which customers have storage space or deliverability in their contracts today that based on recent -- based on consumption and use of storage over the recent past, recent few years, is clearly excessive to what they're using in their facility.
UNDERTAKING NO. HDU2.9:  TO PROVIDE INDICATION, FOR THE 51 CUSTOMERS, THE EXTENT TO WHICH CUSTOMERS HAVE STORAGE SPACE OR DELIVERABILITY IN THEIR CONTRACTS TODAY, BASED ON CONSUMPTION AND USE OF STORAGE OVER THE PAST FEW YEARS THAT IS CLEARLY EXCESSIVE TO WHAT IS USED IN THEIR FACILITY.

MR. RUPERT:  Okay.  Early on, I think this was in the examination-in-chief, I think you said something or maybe Ms. Wong said something.  I have seen it in some of the evidence and I saw it in the tech conference, and I have seen it before.  It is the sort of phrase that says 1.2 percent deliverability is consistent with the aggregate excess method, words to that effect.

Maybe I got that wrong.  The reason I ask is that the aggregate excess is, of course, a 151-day winter period; put it in the summer, take it out in the winter.  Did I hear that wrong?  I thought I heard 1.2 percent was consistent with aggregate excess.

MS. WONG:  I think I used those words, yes.

MR. RUPERT:  1.2 percent is like 83 days or whatever it is.  It's not 151 days.  So is that correct or am I 
not --

MS. WONG:  I think Mr. Quigley can speak to that.

MR. QUIGLEY:  It is conceptually -- I believe you would look at it as conceptually correct, that aggregate excess is built up over the summer and emptied over the winter.  So it is a methodology where you are drawing down storage over a period of time.  One-fifty-one is the number of days we use in the winter.  The 1.2 percent allows you to empty the storage in 90 days, recognizing that over the course of the winter you can get out all of your storage.

MR. RUPERT:  So it is nothing more than, that the 1.2 percent gives you the ability to get gas out in 83 or 90 days, which is less than 151?  There is nothing more profound than that?

MR. QUIGLEY:  Correct.

MR. RUPERT:  Okay.  In your reply evidence, R1, there are tables on pages 15 and 16.  These were the profiles you had, one of 40 percent aggregate excess load factor and then the other one was a process customer at 80 percent.  

The one thing you get from these diagrams and I think sort of the aggregate excess case it is probably also mathematically true, is that this customer here, I suspect every aggregate excess type of customer, probably has a higher or needs a higher withdrawal rate than an injection rate.  Sort of mathematically, as I see it, you get 214 days to put gas into storage, and less time, 151 to take it out, then you clearly need a higher withdrawal rate if you just even assume a perfect average world every day you're putting something into storage then taking it out. 

My question is, is that -- in your contracts today - I know we've got these columns, you have deliverability - is it true that the injection and withdrawal rates are always the same in these T1 contracts?  Or are there cases where there are different injection and withdrawal rates under your current rates? 

MS. PASSMORE:  The T1 rate schedule has actually one parameter for injection and withdrawal.  So customers, when they're contracting for deliverability they may have different drivers for it but it is the same parameter.  

MR. RUPERT:  Similar case?   

MS. PASSMORE:  That's right.  Whereas some of the ex-franchise storage services are structured differently where it might come with 1.2 percent standard withdrawal and 0.8 percent standard injection or those different types of numbers, but on the T1 rate class schedule, there is only one rate for injection and withdrawal. 

MR. RUPERT:  On the next page which is the process load customer 80 percent load factor, again, it is only one customer, but also, if you eyeball this you quickly realize something which is not very profound, that you probably want and need more -- a higher injection rate for those days where something happens on your facility and you have, you're out of business or closed for maintenance than a withdrawal factor.  

Again, the reason I ask these both, is this something you considered, talked about in your internal debates on how to go at the standard method or in your customer consultations as to whether there might in fact be different withdrawal injection rates storage for the cost-based?


MS. PASSMORE:  We did continue to use the parameters that was on the rate schedule. 

MR. MacEACHERON:  Yes.  We didn't separate injection 
-- injecting activity from the withdrawal activity.  In looking at deliverability, we didn't differentiate.  

MR. RUPERT:  Okay.  Thanks.  A question on grandfathering, and you talked a bit about this with Mr. Thompson this morning.  As I heard that discussion this morning -- or let me back up.  First of all, I take it that every customer who became grandfathered in the settlement agreement of the year 2000 opted to do so or because the storage they have available then would be greater than the aggregate excess storage that they would be given if they weren't grandfathered,  i.e., they wanted to be grandfathered because they had more storage.  

MR. MacEACHERON:  Correct.  Said, perhaps, another way:  If a customer wanted to be refreshed, using aggregate excess and leave the umbrella of the grandfathering, we would not have restricted that.  

MR. RUPERT:  Okay.  And this morning in the discussion Mr. Thompson raised about one of the trade-offs, I guess, for those people who got the grandfathered storage space was that they had to take on some part of Union's upstream transportation commitments, some slice of pipelines space or something, I took it. 

MS. PASSMORE:  That was in 1986, that's correct. 

MR. RUPERT:  That was in '86.

MS. PASSMORE:  That's correct. 

MR. RUPERT:  That wasn't in the year 2000, then?  Grandfathering took place -- this is what I want to understand.  The grandfathering took place in the year 2000.  

MR. MacEACHERON:  Yes.  

MR. RUPERT:  I guess I misunderstood the discussion this morning.  So this taking on of this obligation for the pipeline space did not occur as part of the settlement in the year 2000?  

MR. MacEACHERON:  No.  

MS. PASSMORE:  No.  

MR. MacEACHERON:  All customers who went direct purchase beginning in the mid '80s, a requirement for going direct purchase was to assume the upstream obligations that the utility had.  So that we didn't have double pipe, you might say, coming into the utility and having the associated unabsorbed demand charges. 

So whether they were a bundled type direct purchase customer in the early days of direct purchase, a buy/sell type customer, there was upstream obligations that the customer had that they picked up and then -- so it wasn't really not just specifically related to T-service. 

MR. RUPERT:  So the discussion this morning then in terms of the upstream space, then I should take that as saying that even though that took place 13 or 14 years earlier, this grandfathering was at least in part somehow recognition these people had taken on this obligation for the upstream space before and was kind of rewarding them.  Is that what I should take from this morning's discussion?  

MS. PASSMORE:  None of us here were involved in those discussions so I don't think any of us are appropriate to say what was part of that -- what ended up in that decision, the grandfathering. 

MR. RUPERT:  Generally my question is this, and maybe, you know, you can undertake to get back to me or we can cover it with another panel.  Since the grandfathered customers clearly received more space than they would have otherwise and they got that out of that settlement agreement, I'm trying to understand what bad things they might have had to endure or take on or commit to as a result of the settlement process that would then say, Yes, I've got more space but I also committed to do this other thing over here.  That is what I'm trying to understand. 

MR. MacEACHERON:  My understanding they had the same obligations as any other direct purchaser had, a bundled direct purchase customer. 

For instance, marketers who went direct purchase in the late '90s taking core market customers with them to a direct purchase arrangement were allocated upstream assets.  

An industrial who stayed system sales and in the late '90s decided I'm going to go bundled direct purchase, but bundled you keep your M4, M5 service or M7 and then you combine it with a bundled transportation service, bundled direct purchase service, that those customers were allocated upstream space.  So that was something that was uniform as we sort of backed off our upstream arrangements on a one-for-one basis with all customers who went direct purchase, whether it be T-service or bundled-T.  

MR. RUPERT:  Okay.  So it wasn't restricted to that subset of customers?  

MR. MacEACHERON:  That's correct.  

MS. PASSMORE:  Yes.  

MR. RUPERT:  I don't know if you ever run this  calculation or not, but as we look at the existing long-term contracts for the generators, I've just been curious as to how they might fare under the June 2006 settlement agreement with -- that was part of NGEIR.  Is that a calculation that you have ever done to say, for these customers here who have admittedly 15-, 20-year agreements, so they will be outstanding for a while, but had those agreements been negotiated within the terms of the settlement agreement for large customers, any sense of -- have you ever done any calculation as to how much cost-based storage and deliverability they would be -- they would get under that as compared to their current contractual arrangements?  

MR. MacEACHERON:  I haven't done that comparison, but I do know two of those customers I worked with in moving them to T1 service and those two customers that I worked with were not strictly power generators of the type that you were dealing with in the NGEIR proceeding.  

They have other industrial business activities in addition to generating power.  And so they wouldn't fit the sort of on-off type profile of the power generator, the large ones that you were looking at last year in the NGEIR proceeding.  They would, if you looked at their load profile, you would see consumption every day.  And then you would see additional consumption when they're actually generating power.  But you would definitely see significant daily consumption, unlike, again, a power customer who is waiting to be called on by the authority here in Ontario and then needs to come on and then goes off. 

MR. RUPERT:  There are at least some of those customers in that long-term contract group that are pure generators. 

MR. MacEACHERON:  Yes, there are a couple of other pure generators as well.  

MR. RUPERT:  I would be interested -- I realize this is a small group so we have to be careful here.  I don't want anything that smacks of breaching confidentiality.  But if it is not a difficult calculation to say for those pure generation parts of those long-term contract holders, to what extent the June 2006 settlement agreement would result in, know, higher or lower allocations.  I would be interested in that.  

MS. PASSMORE:  Is that, for my own clarification, so that would assume if that customer has reached -- is that the threshold of the 1,200 10 cubed a day CD, that they would get the storage allocation that came out of the settlement?

MR. RUPERT:  Yes, I think that is right, saying if they walked in today and not two years or three years ago.

MS. PASSMORE:  If they were a brand new customer and if they had reached that threshold of 1,200 10 cubed, compared the current allocation to what came out of the storage allocation in the settlement agreement?

MR. RUPERT:  Yes.

MS. PASSMORE:  Which is the 24, times 4, times peak hour, or 10X deliverability?

MR. RUPERT:  Yes.  Is that doable?

MS. PASSMORE:  I think we can.

MS. WONG:  Can I just clarify?  I just don't know the answer to this.  All of the customers you're thinking of, are they over that 12 million threshold?

MS. PASSMORE:  That's what I have to do first.

MS. WONG:  If they're not over the threshold, do you still want the calculation?

MR. RUPERT:  I have made an assumption, as well, without any knowledge that they probably are at 1.2 million in a day, but I take your point.  For those that would fit the settlement agreement criteria.

MS. PASSMORE:  Okay.

MR. RUPERT:  I don't know the numbers.

MR. SCHUCH:  Mr. Chair, that would be undertaking HDU2.10, and I think it is fairly clear on the record.  I don't think we need to repeat it.
UNDERTAKING NO. HDU2.10:  TO ADVISE How much space and deliverability would be provided at cost based rates to gas fired generators who currently have long term contracts, had they qualified for the June 13, 2006 Settlement Agreement

MR. RUPERT:  The last couple of questions, this is something Mr. Aiken was asking you about, and that is the bundled customers, and then the U2 customers.

For the bundled customers, does Union not at least allocate storage for purposes of at least rendering someone a bill?

So even residential customers, I thought, that you've got to go and charge people for storage, and therefore you have to figure out how much storage they notionally have got, even if you manage it as a portfolio.  So there are storage allocations done for that purpose, I assume, for each of the rate classes?

MR. MacEACHERON:  That's correct.

MR. RUPERT:  What method is used?  Leaving aside residential and people like that, but the bundled industrial commercial customers, what method is used to allocate storage, again, just for billing purposes?

MS. PASSMORE:  My understanding is the cost allocation study does do the aggregate excess calculation for the bundled rate class.

MR. QUIGLEY:  Sorry, okay.  I thought you were talking about exactly how it is allocated to each customer.  But it is done at a rate class level and aggregate excess is used.

MR. RUPERT:  Now, for the U2 customers, when we finish this proceeding and whatever we decide to do -- well, let's say that your proposal is accepted completely as laid out.  Would that have any change on -- that's the only group where there is unbundled customers today, the U2, the marketers and their customers?

MS. PASSMORE:  Yes.

MR. RUPERT:  Would that change in any way the storage space that they are allocated?

MS. PASSMORE:  No, because -- go ahead.

MR. QUIGLEY:  No, because the proposal isn't to change any of the storage allocation to bundled customers.

MR. RUPERT:  Okay.  So even though -- I guess it is a question of what is bundled or unbundled.  When a marketer goes and takes the storage from people to manage that themselves, that is -- you don't consider that unbundled?

MR. QUIGLEY:  Sorry.  The proposal isn't to change how the current U2 service works.  So they will take -- they can opt to take 1.2 percent standard deliverability and they can opt to take the proportion of 10 percent standard peaking service, but I believe both are, subject to check, optional elections by the marketer taking those customers.

MR. RUPERT:  Let's take a category with no customers, the U7.  There is no customers in that category now?

MR. MacEACHERON:  No customers.

MR. RUPERT:  If someone were to come along to become a U7 customer, what you're proposing here, you propose that apply exactly to the U7 customers, just as you are saying it should apply to a T1 or a T3?

MR. MacEACHERON:  Certainly the deliverability would be 1.2 percent, and I think that's been established for the unbundled rates already, the deliverability at 1.2 percent.

And the space allocation for the industrial, I'm not sure.  I'm not 100 percent.  I haven't worked with any industrials looking at the U service yet, but I'm assuming we would use the aggregate excess method for the --

MR. RUPERT:  I guess I'm wondering why it wouldn't -- whatever we do with your proposal, why there would be differences between what a T1 customer would get at cost-based rates and a purely unbundled customer would get.

MS. PASSMORE:  I don't think there would be.  I think what you're seeing is all of us trying to remember the whole U7, and I don't think any of us have that fresh in our mind.

MR. RUPERT:  I appreciate there are no customers in the class now, but I'm thinking -- 

MS. PASSMORE:  Yes.  No, I think the philosophy that goes through our evidence reflects the Board directive that it was semi-unbundled and unbundled.

MR. RUPERT:  Right.  

MR. QUIGLEY:  Yes.  And if you turn to in the storage allocation policy, this is in the operations area, that was filed as -- sorry, in the supplementary evidence, which would be A-3, appendix -- revised appendix B.  It does say, under aggregate excess, T1, T3 and U5, U7, U9.

MR. RUPERT:  Okay.  I hadn't seen that.  Okay, good.  Those are my questions.  Thanks.

MS. CHAPLIN:  Thank you.

I have sort of similar set of questions that don't necessarily follow in a logical order, but hopefully you can help me.

Now, everything that we have talked about today is just for the southern operations area, is that correct, in terms of your proposal?

MS. PASSMORE:  Yes.

MS. CHAPLIN:  You are not proposing any changes to storage allocation for northern-eastern operations area; is that correct?

MS. PASSMORE:  That is correct.

MS. CHAPLIN:  Okay.  It is laid out -- and it's slightly different than the aggregate excess; is that correct?

MR. QUIGLEY:  Yes.

MS. CHAPLIN:  And that is what is in this appendix C.  I can't remember what appendix C was attached to, but --

MR. QUIGLEY:  I believe it is filed in the original evidence.  So it would be Exhibit A1, I think.

MR. SCHUCH:  A1.

MS. CHAPLIN:  A1, okay.

And so are there any semi-unbundled customers in the northern and eastern operations area?

MR. QUIGLEY:  Sorry, go ahead, Dave.  There are five or six T-service customers with storage in the north.

MS. CHAPLIN:  Okay, but they're bundled.  They're not T1 customers; they're bundled customers?

MS. PASSMORE:  T1 and T3 are southern.

MS. CHAPLIN:  Strictly southern service.  So the comparable northern service, there isn't a comparable semi-unbundled northern service; is that...

MS. PASSMORE:  That's right.  There's a transport service where the customer has contracted for storage outside.  It's not an integrated service like the T1 service.

MS. CHAPLIN:  Okay.  So that is sort of closer to being -- the comparable is to actually be unbundled; is that correct?

MS. PASSMORE:  I don't -- I will take an undertaking to describe that to you.  There is still allocated cost-based storage, but I will take an undertaking to describe that.

MR. SCHUCH:  Mr. Chair, that would be undertaking HDU2.11.
UNDERTAKING NO. HDU2.11:  TO PROVIDE DESCRIPTION OF NORTHERN AND EASTERN SERVICE PROPOSAL


MR. KAISER:  Thank you.

MS. CHAPLIN:  I mean, I'm not trying to -- I am just trying to make sure that there is no issues arising from that.  So that's my only reason for asking for those questions, is just to ensure we hadn't negotiated to examine something that --

MS. WONG:  We will give you the undertaking, Ms. Chaplin, but I think I can say that the proposal made it clear that there were no changes intended for the northern operations and no intervenor has raised any issues, so we really didn't prepare for that reason.

MS. CHAPLIN:  Right.  Okay, that's fine on that basis.

Now, the new services that arose from the NGEIR settlement agreement, those are non-obligated deliveries; is that correct?

MS. PASSMORE:  The underpinning T1 contract has the non-obligated deliveries.  So the customer who has the greater than 1,200 10 cubed per year or incremental loads greater than 1,200 10 cubed per year, so it is the T1.  It's not the services essentially that were associated with it.  It's the T1 service.

MS. CHAPLIN:  T1 service.  So -- okay.  Now, the 1,200 a day requirement, has there been any consideration as to whether or not that limit can be lowered, or what would be the factors that would be involved in considering whether or not that could be lowered?

MS. PASSMORE:  I don't think there has been any consideration.  I think the more important part of that is the new or incremental new load.  So this is load that is coming on the system that was not originally underpinned, you know, from a Parkway delivery or Dawn-Parkway transportation that was to serve it.  That is a very important part of it.  It was new or incremental new amounts of load.

We haven't had any discussion about the 1,200, and at this point in time I can't explain to you where that threshold came from.

MS. CHAPLIN:  Okay.  But you're saying the important constraint is that it be limited to new loads?

MS. PASSMORE:  That's correct.

MS. CHAPLIN:  Not customers shifting from a service that they may be on today, that may meet their requirements today, but if they were to change the nature of their load they might prefer the non-obligated service, but you're saying that in the case where they're not a new customer that is not an option that is available to them?  

MS. PASSMORE:  Not the way the system is currently designed and Dawn-Parkway capacity has been built in order to serve those customers.  

MS. CHAPLIN:  Okay.  Thank you.  That's helpful.  

Over to the determination, the year-over-year determination of the aggregate excess amount.  You described how it was for the customers that moved to T1 service after the 2000 settlement agreement, it was, the calculation was done on the prior year's consumption.  Now you are proposing to use two years historical and one year forecast.  Why would you not just use a forecast?  Would that not be more representative of what the customer actually needs?  

MR. MacEACHERON:  Well, we were concerned that we would need some sort of basis to support that forecast in order to meet the requirements of the directive.  

We took the directive to mean, you were looking for something that was clear and standardized and by basing an element of historical or actual consumption in the aggregate excess methodology, we thought helped anchor that.  Then by balancing it out with a forecast component, we thought reflected, gave the opportunity for the customer to reflect changes going forward.  

MS. CHAPLIN:  So your position is that by incorporating both historical and forecast, you end up with a more stable allocation year over year?  

MR. MacEACHERON:  Yes.  One that -- well, one that reflects, has an element of actual usage in it, rather than just purely forecasted usage. 

Now, we are prepared to go to pure forecast where the customer is saying, Gee the history is just not representative of my business going forward, and there is evidence of that as you would see with the higher DCQ above 5 percent than the current level.  So if they demonstrated that change in business by increasing their supply commitment to Union or decreasing it, but mainly increasing their supply commitment to Union representing an increased consumption at the plant or a changed consumption at the plant, then we would move to simply a forecast.  But if there has not been a material change in their supply, then it's our view that the history should be relevant.  

MS. CHAPLIN:  Okay.  

Now, I am looking at page 5 of 13 of your November evidence, which I think is A3.  At the bottom of that page it states, it's stated:  
"The evidence will demonstrate that firm deliverability up to 1.2 percent is appropriate based on consistency with the overall physical design and operation of the system, Union's unbundling proceeding, and marketing event ex-franchise services and industry practice."


And I am just curious, Mr. Quigley, where in that list or how the customers reasonable balancing needs are addressed?  

You have testified that the industry practice is 1.2 percent.  Your ex-franchise services are at 1.2 percent.  Your overall physical system is at 1.2 percent.  But I am left with trying to understand how it actually meets the customer's balancing needs.  Maybe just before you answer, it is sort of linked to the comment that was made earlier in the testimony when I asked whether or not 1.2 percent would actually be enough for some of these standard profile customers to actually do seasonal load balancing.  

MR. QUIGLEY:  The purpose of coming up with the 1.2 percent was looking at the -- what the standard to be charged at cost-based rates.  So what we were looking at was what underlies that, that deliverability or the services, the storage services that are available to those customer groups, and what they are is our standard storage pools which, on average, deliver 1.2 percent.  

If you look at -- we refreshed that calculation at attachment 3 in the supplementary evidence, and so what we are looking at is, customers can contract for whatever level of deliverability they need in order to meet their balancing needs, but what storage services are supporting the deliverability and what should be charged at cost-based rates and what above cost-based rates and the standard service that underlay those services is the base load pools at 1.2 percent.  

MS. CHAPLIN:  Okay.  

For customers currently, you have described this earlier today, I think, how there is limited ability to -- if they happen to have excess storage, there is a limited ability to market that, because there's -- the arrangements are all linked to what is actually used at the customer's meter; have I got that correct?  

MS. PASSMORE:  No, no.  

MS. CHAPLIN:  Under the existing.  Maybe you could help me.  So customers currently, either the grandfathered or the more recent ones, to the extent that they wish, can their marketers or they themselves directly use the services they have under contract to take part in marketing activities of those services?  

MR. MacEACHERON:  Absolutely, they can.  And that's what we are seeing happening today.  And has been going on for a while.  

MS. CHAPLIN:  You're saying through those activities that require Union's authorization?  Is that -- 

MR. MacEACHERON:  Yes.  For instance, a customer with surplus space might hire a marketer to manage that space and play the market with it and return to the customer some share of the profits from that activity and return in return for their optimizing that space.  They would do so by requesting an in-franchise transfer or ex-franchise transfer of gas on a day, any day, for maybe a number of days, when our system can accommodate that type of activity.  And that would happen.  And it's difficult to differentiate it at all times from the pure management of the space, but definitely happening.  

As well, another example of what you might see with surplus space is a customer saying, I like the price of gas today.  And I fully intend on making X widgets and I know my cost structure is this and I can definitely profit with the price that's there today.  I will buy that gas today and put it in my space.  And maybe buy it over a ten-day period through their marketer and put it in that cost-based space that is otherwise surplus to their balancing needs.  And that is, that is something that is happening.  You know, when we were directed to rollover the existing parameters, one customer made a comment that:  Great.  I don't need that extra space, but I will play with it in the market.  

MS. CHAPLIN:  And do you have any -- I think you have already answered this, but do you have any way of measuring how much of that is going on?  Or how common it is?  Or what percentage of customers are using that flexibility?  

MR. MacEACHERON:  It is difficult -- it is difficult to measure.  Certainly the more space that is allocated above what we're considering to be reasonable pursuant to our proposal, the more likely that it is happening, but it's happening, amazingly enough, even with the smaller ones who are being served by a marketer that's serving a number of marketers and able to maybe aggregate the activity of his clients.  We're seeing that.  

But it is difficult and, you know, to -- and to put us in a bit of a police-type position.  Wait a minute.  What is that.  What is that you're doing?  

I have seen a situation where a customer actually nominated an incremental delivery and at the same time nominated the withdrawal of the equivalent amount of gas two months later.


Clearly that one was called.  We blew the whistle on that one.  Wait a minute.  Something is wrong here.  That's not what this space was intended for.


MS. CHAPLIN:  I think you said this earlier but is it your understanding that all of the T1 customers use marketers?


MR. MacEACHERON:  Yes.  Yes.  I would say so, yes.

And the level of involvement of the marketer would be, on a scale of 1 to 10, the simple, Just supply me the molecules.  I'm somewhat sophisticated and can manage the rest.  I will tell you when I want to transact, either bring in more or shed supply, and you execute that for me, to the less involved customer that just says at the other end of the scale, You take care of it.  You do it.  Just make sure I'm not penalized at the end of the day for overrunning any of the services, and I will be fine.  

So you will see -- and in between, you will find the majority of our customers.

MS. CHAPLIN:  Okay.  My last question is -- the reference is A3.2, which was an interrogatory to LPMA, an answer. 


If you could also put your hands on A2.10, the attachment, which has the sort of one way of looking at the impact.

I am looking to start with -- I'm sorry, do you have those?

MR. MacEACHERON:  A2.10?

MS. CHAPLIN:  A2.10, the attachment that has the impact of Union's storage allocation proposal on the T1 contracts.

MR. MacEACHERON:  I have that one in front of me, yes.  Hmm-hmm, yes.

MS. CHAPLIN:  So the -- I just need some help sort of reconciling these two.

The second paragraph of the answer of A3.2, it talks about, in the -- excluding grandfathered customers and long-term contracts, and it is saying that the Union's storage allocation proposal is for 4.4 -- I'm approximating -- 4.4 million gigaJoules, and that could be compared to what would be allocated under the current aggregate excess calculation, which is something less than 4.1 gigaJoules.


I took it to be the point was that, in fact, under Union's proposals, the total space that would be allocated to these customers was actually greater than under the current aggregate excess calculation.

I'm just trying to reconcile it, because to me -- I guess I'm having trouble understanding that, because since we're excluding grandfathered customers and long-term contracts, I would have thought that the aggregate excess 
-- I don't understand how the new proposal can be more, if on A2.10, it is actually showing net is less.  

I am wondering if it just because a different time period assumption is used for calculating what the aggregate excess allocation would be, or, what.

MR. MacEACHERON:  I think for that group of customers, the non-grandfathered customers - and that's the population that you're referring to in the non-long-term.

MS. CHAPLIN:  Yes.

MR. MacEACHERON:  So just the non-grandfathered customers - there is a sort of series of puts and takes in there.  Some will get a little more.  Some will get less.

And the additional proposal will also help give a little bit more to customers.  For instance, the customer who went T-service, but got none, got zero space, would be an example of one getting now some space under our proposal.

So there is a series of ups and downs in the numbers there, reflecting a refreshing of aggregate excess.  For some of those customers, it's been maybe six years, five, six years, and they have been rolled over, rolled over.  And over time, perhaps there's been a change in their consumption pattern, and that may have resulted in a reduction of storage.

Others might be receiving additional storage just based on, again, refreshing their allocation and/or being given the ten times.

MS. CHAPLIN:  Okay.  So even for the customers that weren't grandfathered, their aggregate excess also stayed unchanged, largely, is that -- year over year?

MR. MacEACHERON:  Yes.  The amount of change is certainly a lot less, because they originally went T1 with an allocation of space that was determined using the aggregate excess methodology.

So all we're seeing are adjustments, you might say, to that group of customers reflecting a look now at a more recent historical period, like -- and I believe in this table we are using the August 2005 to July 2006, or July 2005 to August 2006 period.

MS. CHAPLIN:  Okay.  So the non-grandfathered, they weren't subject to an annual -- an annual change, an annual recalculation of the aggregate excess?

MR. MacEACHERON:  No -- yes.  Once we allocated the storage to the non-grandfathered customers, we looked for a change in -- a significant change in their end use location.

MS. CHAPLIN:  A significant change to that is the 5 percent change in DCQ.

MR. MacEACHERON:  In CD.

MS. CHAPLIN:  I'm sorry, in CD.  And that's in one year a 5 percent change; is that correct?

MR. MacEACHERON:  That's correct.

MS. CHAPLIN:  So you could have had a series of 4 percent changes per year, and that would never trigger?

MR. MacEACHERON:  That's correct, also, and that was perhaps one of the problems with that trigger.

MS. CHAPLIN:  Okay.  Okay, thank you.

MS. WONG:  Ms. Chaplin, if I might just add to help clarify that point for you.  I don't want to be a witness here, but I think it might help clarify.


Under the current system, the significant change was 5 percent in CD, which is the peak demand.  Under the proposal, what Union is proposing is a 5 percent change in DCQ, which is the supply.

So I am not sure if you picked up that nuance.

MS. CHAPLIN:  Yes.  Thanks.

MR. RUPERT:  I want to follow up.  Under the proposal, will it avoid the problem that Ms. Chaplin has talked about, which is you have a series of annual changes less than 5 percent in DCQ, or is it going to be a cumulative change of 5 percent?

MR. MacEACHERON:  What we are proposing is every year now refreshing the allocation amount based on the two years history and the one-year forecast, and we will move to a forecast-only approach if there is a DCQ change of 5 percent during that year.

MR. RUPERT:  I understand.

MR. MacEACHERON:  Yes.

MS. CHAPLIN:  Thanks.

MR. RUPERT:  Can I ask a follow-up from what Ms. Chaplin said?  I asked a question earlier and you were going to try to see what you could get to me on the question of:  Are there clearly cases where there is excess amounts of deliverability or storage now?

When you answered the questions about this sort of, I'll call it, secondary market activity, and your transactions people are doing transactional services with their space, is it going to be possible to separate that out from their actual uses at the plant?

MR. MacEACHERON:  That is what is very difficult to do, yes.  It's very difficult to pick that out.

MS. PASSMORE:  We will most likely be able to show it to you pictorially, and what that is is that is one of the analyses you see here, and that's the challenge we had, is that when we attempted to use the existing storage activity, it wasn't showing us anything as we continued to drill down to try to determine what the customers really needed.

So that's why we needed to go use the customer's actual consumption and layer the consumption against this recalculated -- this, quote/unquote, "perfect DCQ" that equalled 1/365th of consumption.

MR. RUPERT:  That's it.

MS. PASSMORE:  That will show you one amount in storage.  Then over and above that would be all of the incremental supply, diversions the transactional activity.

MR. RUPERT:  Right, okay.  Okay, thanks.

MR. KAISER:  I just have one question, and it goes to this, again this repricing of the high deliverability.

When you say the 1.2 percent should be cost-based, is that cost just the base pool cost or does it include all of the pools?

Are you allocating costs here between the high deliverability pools and the base pools in any real sense?

MS. PASSMORE:  I don't know that answer.

MR. QUIGLEY:  I don't know the answer.

MS. PASSMORE:  I don't know that answer.

MR. MacEACHERON:  I don't either.

MR. KAISER:  Related to that, the differential in price between market price and base price, I take it it doesn't bear any resemblance to the difference in costs between the base pools and the high deliverability pools?

MS. PASSMORE:  I don't know.  I will have to find that out.

MR. KAISER:  All right, thank you.

MR. SCHUCH:  Is this an undertaking, Mr. Chair?

MR. KAISER:  No.  Ms. Wong.
Re-examination by Ms. Wong:

MS. WONG:  Thank you, Mr. Chair.  I just had a couple of things arising out of Mr. Thompson's examination.

If the witnesses could turn up to the IGUA evidence, page 21, Mr. Thompson had put to the witnesses that the IGUA concept is based on the fact that if a customer had excess DCQ in the winter - I am reading now from the bottom of page 21:
"IGUA suggests that DCQ-obligated T1 customers which experience their DCQ excesses over consumption in the winter, or consistently throughout the year should not be treated any differently than DCQ obligated T1 customers who experience their DCQ excesses over consumption in the summer."


The witnesses had disagreed with that concept.  What I would like the witnesses to tell us is whether they know of any Union customers that have DCQ excesses over consumption in the winter.  

MR. MacEACHERON:  I would say, no.  No.  Not to the extreme that's being suggested here, no. 

MS. WONG:  If there was theoretically such a customer, would that customer be better off using storage to deal with their DCQ excess?  Or is there another way for them to deal with it?  

MR. MacEACHERON:  If you're talking about a customer that has a DCQ excess in the winter, it sounds like they might have their load peaking in the summer, and it might make some sense that the customer consider a seasonal DCQ in that regard.  

Now, our DCQ policy which is on our website does accommodate or does reference Union's willingness to work with a customer to look at a seasonal DCQ, where the customer could bring in additional load in the summertime when gas is typically cheaper, with an embellished, you might say, DCQ in the summer and therefore avoid having to pay any storage-related charges and get the benefit of serving that higher summer load with the seasonal DCQ.  

MS. WONG:  Thank you.  Now, with respect to the second part of that concept, which is customers who have load consistently throughout the year.  Do you believe that a customer who has their DCQ consistently throughout the year needs as much storage as a customer who has it primarily -- who has their use primarily in the wintertime?  

MS. PASSMORE:  I think the question -- I think we're going back to the reference and we have had some discussion about this, the reference of a customer who, let's say, would burn five days of the week and then go down over weekends.  Is that what you're doing?  So consistently throughout 52 weeks of the year.  And this customer essentially would have, then, based on his load factor, through the two days of the week he would be able to inject the gas he's not using, the two days of the weekend he would inject the gas he's not using, so that would be gas arriving on the system in excess of consumption and for the next five days he would be burning more than his DCQ and essentially he would be able to empty that storage.  

So the type of analysis we have done on that shows a very low co-efficient to the number of days times DCQ the customer would require.  So I don't believe that this is applicable to that type of consumption profile, either.  

MS. WONG:  When you say "this," what do you mean by "this"?


MS. PASSMORE:  Section 68, page 21, of IGUA's evidence.  

MS. WONG:  Thank you.  Thank you those are all of my questions arising from the cross.  

MR. KAISER:  Thank you.  Do you plan to proceed with the in camera aspect next? 

MS. CAMPBELL:  I think that is what would happen next.  

There are some issues concerning those who will be present during this portion of the cross-examination.  As you will recall, your initial -- the order that provided the information to Mr. Thompson provided the information to him exclusively and he was the only one who signed an undertaking.  

So under the Rules of Practice of this tribunal, the Practice Direction says that it is the individual who signed the undertaking who stays and obviously the Board Members and the panel members get to remain, and a handful of others also.  

There is an option, obviously, if the panel chooses to offer it to those who are present, to have those who are present who would like to attend during the cross-examination to execute undertakings in order to attend and be present during that cross-examination.  

There may be certain people that either Union or IGUA feels should not be present and should not be permitted to execute that undertaking.  

MR. KAISER:  Let's start first and find out who wants to stay.  

MR. RYDER:  City of Kitchener does. 

MR. KAISER:  Mr. Cass. 

MR. CASS:  On behalf of Enbridge Gas Distribution, I propose to execute the undertaking and to stay.  Mr. Bourke proposes to leave and not execute the undertaking. 

MR. KAISER:  Ms. Young. 

MS. YOUNG:  Mr. Chair, I will be leaving, thank you. 

MR. KAISER:  All right.  The gentlemen at the back?  They are your people?  

MR. THOMPSON:  Yes.  They are the IGUA -- 

MR. KAISER:  Do they get to stay or do they have to leave?  

MR. THOMPSON:  I think they should stay.  They will be talking. 

MR. KAISER:  It's their information, right?  

MR. THOMPSON:  Well ...

MR. KAISER:  Well, in part. 

MR. THOMPSON:  Yes.  

MS. WONG:  Well, that's the concern.  It isn't their information in part.  So certainly while we're discussing their information I don't have a problem with them staying. I am not sure if they need to stay while we're discussing all of the customer information when you get into the cross-examination of the Union witnesses.  I'm just raising that sort of as a concern.  

MR. THOMPSON:  Well, you plan on examination-in-chief as I understand it, so I suppose you will have to tell me when you want them out. 

MS. WONG:  Well, my examination-in-chief on their graphs, I'm content they stay so long as they're individually content to stay because I have graphs of the each of the three of them.  They may not want the other two to see their graphs. 

MR. THOMPSON:  The idea is they would all stay and sign the undertaking. 

MS. WONG:  The concern I'm raising is whether they stay when you start your cross-examination if you are going into some of the more general confidential information.  

MR. THOMPSON:  That's a valid concern and I think I would have them stay out.


MR. KAISER:  All right.  Let's proceed on that basis.  I guess -- do we have to do some paperwork here?


MS. CAMPBELL:  I anticipated this and brought some forms with me.  Perhaps those who have not executed a form yet, this is pretty self-explanatory, and if you can't fill it out, figure out how to fill it out, you can't stay.


[Ms. Campbell passes out forms to intervenors]

MS. WONG:  Mr. Chair, I'm assuming all of the Union employees get to stay as well, without signing it.  I had discussed that briefly with Ms. Campbell.  There are three Union -- 

MR. KAISER:  Is that the case, the Union people don't have to sign anything?  

MS. CAMPBELL:  Well, what I said to Ms. Wong is that I have seen it handled in a particular way.  In Toronto Hydro, what they did in Toronto Hydro was A, there was a common law duty of confidentiality that employees have to extend to their employer the information that they gain and of course anything that has to do with the execution of their duties which includes being in here. 

Secondly, if you want to sort of put belt and suspenders on, they also fill out one of these and that's Ms. Wong's call.


MR. KAISER:  What's your preference, Mr. Thompson?  Do you have any view on that?  Do you want them to sign or not?


MR. THOMPSON:  Yes, please.  

MR. KAISER:  All right.  It won't kill you.


MS. WONG:  Are you getting the witnesses to sign them too.


MS. CAMPBELL:  I personally would not ask the witnesses to sign.  

MS. WONG:  Well then I need these three and the employees here, that's right.  

MR. KAISER:  Are we off air?  

MR. RUPERT:  Yes.  

MS. CAMPBELL:  If you do not know the name of your firm, Mr. Ryder, you cannot stay. 

MR. RYDER:  I think we know how to spell it. 

MR. KAISER:  R-Y-D-E-R.  

MR. RYDER:  That's it.   

MR. KAISER:  I think it is off.

--- In camera session commenced at 4:27 p.m.


[Note:  Page 176, line 8, to page 184, line 22 have 
been redacted]


--- On resuming public session at 4:45 p.m. 


MR. KAISER:  Why don't we adjourn until 9:30 tomorrow and pick this up then.  

--- Whereupon the hearing adjourned at 4:45 p.m.
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